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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

.continue  B. physics C. split D. like
. teacher B. beat C. breakfast D. eating
. passenger B. several C. begin D. repair
.meeting  B. weekly C. engineer D. free
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. realize B. pea C. cheese D. asleep

Exercise II: Choose a word in each line that has different stress pattern.

6. A. alternative B. announce C. absolute D. arrive

7. A. brigade B. harrow C. normal D. peasant

8. A. typical B. continue  C. tobacco D. appointment
9. A. interesting B. satisfy C. afternoon D. conclusion
10.  A.repeat B. frequency C. occasionally D. immediately

Exercise I1I: Read each of the following lists of four words and choose
one word in each list that does not belong to the group.

11.  A.air-hostess B. mother C. driver D. schoolgirl
12.  A.chemistry B. history C. biology D. library

13, A.chicken B. buffalo C. cow D.ox

14. A.plough B. harrow C. boil water D. pump water
15, A.takeoff  B. panic C. pilot D. airport

Exercise 1V: Choose the best answer for each of the following sentences.

16. I was late for school this morning because my alarm clock didn’t

A.goon B. go off C. go away D. goup
17. Another word for fasten is .

A frighten  B. loosen C. lengthen D. tighten
18. 1 was born and grew up on the of the Red River.

A. shops B. restaurants C. offices D. banks

19. Mr. Lam goes to work on foot once a week. It means he
walks to work.

A. never B. sometimes C. often D. usually
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[image: image2.png]20. My aunt is a ____leacher.

AL history B. historic C. historical D. historian
20 do you get to school?” — “By bike™.
A. What B. How
C. How often D. How far
22. When [ was a child. T usually fishing with my brother.
A. go B. went
C. gone D. use to go
23. We dinner at home on Saturdays.
AL haven’t had B. didn’t had
C.aren’t have D. don’t have
24. Are you contented your present job, Mrs. Tuyet?
A.to B. for C. with D. of
25. What time is the flight to arrive?
A due B. plan C. thought D. bound

Exercise V: Read the following passage and choose the best option for
cach blank.

August 29" 2006 is a day I shall never forget. On that day } stared
(26) in the face. Our flight was due to leave at 10.30 am that day, and
arrived at the airport with (27)______ time to sparc. We started boarding at
10.00. Most of us were holiday makers and there (28) a lot of
laughing and joking going on. It was raining slightly, but (29) was
good, and the plane took off on time. The cabin staff were just beginning to
bring round the (30)___ goods when the planc began to shake. At first we
thought we had just hit bad weather. We were told to sit down and to fasten
our scat belts. Then suddenly, the front of the plane seemed to (31)
and we realized we are speeding towards the ground. People screamed in
(32) . Strangers joined hands and prayed. We thought we had only
minutes to live. Then, just when we had (33) all hope, we felt the
plane level out. and slowly we began to gain height. A few minutes later, the
pilot announced that everything was now (34) control, and we all
began to clap and cheer hysterically. Twenty minutes (35)_____ we landed
safely. [t was the most frightening experience of my life.
26. A. die B. decad C. death D. deaden
27. A. many B. plenty of C.alot D. number of
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[image: image3.png]28. A. was B. had C. were D. has been

290 AL view B. look C. sight D. visibility

30. AL duty-free B. free—duty C. freedom—duty D. duty—freedom
31 A. chop B. dip C. down D. reduce

32, AL danger B. risk C. afraid D. panic

33, A. given up B. given back C. broughtup  D. brought back
34 Al of B. with C. under D. below

35. Al after B. later C. behind D. then

Exercise VI: Read the passage below and choose one correct answer for
each question.

My name is Seumas McSporran and I'm a very busy man. I'm 60
vears old and I have thirteen jobs. I am a postman, a politician, a fireman, a
taxi driver, a school-bus driver, a boatman. an ambulance man. an
accountant, a petrol attendant, a barman. and an undertaker. Also. [ and my
wife, Margarct. have a shop and a small hotel.

I live and work on the island of Gigha in the west of Scotland. Only 20
people Jive there but in summer 150 tourists come by boat every day.

Every weekday I get up at 6.00 and makes breakfast for the hotel
guests. At 8.00 T drive the island’s children to school. At 9.00 I collect the
post from the boat and deliver if to all the houses on the island. T also deliver
the beer to the island’s only pub. Then I help Margaret in the shop.

My wife likes being busy, too. We never have holidays and we don’t
watch television. In the evenings Margaret makes supper and [ do the
accounts. At 10.00 we have a glass of wine and then we go to bed. Perhaps
our life isn’t very exciting, but we like it.

36. Mr. McSporran does all the following jobs EXCEPT
A afirefighter B. a driver
C. a farmer D.a mailman

37. Gigha is the name of

A his wife B. his hotel

C. the shop where they work D. the island where they live
38. Tourists to the island.

AL sail B. fly C. swim D. drive




[image: image4.png]39, The word “it"™ in paragraph 3 refer to —
A. beer B. post C. boat D. pub
40. According to the passage which is true about Scumas McSporran?
A. He likes the job as o postman most.
B. He and his wife go on holiday every year.
C. He does the accounts in the evening.

D. He goes to bed very late.

Exercise VII: Choose one sentence A, B, C, or D which is best written
from the words and phrases provided.

A1 came ! neighbors [ coffee | sometimes [ see | for [ eup ltolalmy ! of Il.
A. [ came sometimes to sec my neighbors for a cup of coffee.
B. My neighbors sometimes came to see 1 for a cup of coffee.
C. Sometimes | came to see iny neighbors for a cup of coffee.
D. To sce my neighbors | sometimes came for a cup of coffee.
A2, shall ! forget ! dreadful  life [ my 1 L] never [ day Lin / that /1.
A. I shall never forget that dreadful day in my life.
B. I never shall forget that day dreadful in my life.
C. In my life I shall never forget that dreadful day.
D. That dreadful day in my life shall I never forget.
43, gotup /1 6 o 'clock | woke up (11 early [ and [ at /].
A. T woke up at 6 o’clock early and got up.
B. 1 got up at 6 o’clock and woke up early.
C. 1 got up and woke up early at 6 o’clock.
D. I woke up early and got up at 6 o’clock.
44, often 1 do ! afternoon I what | you ! do | Saturday / every //?
A. What often do you do every Saturday afternoon?
B. What do you often do every Saturday afternoon?
C. What do you do often every Saturday afternoon?
D. What do you often do every afternicon Saturday?
45 witnessed | accident 1 home 11 an !t on Hway | the 1.

A. Yesterday an accident [ witnessed on the way home.




[image: image5.png]B. Yesterday on an way home [ witnessed the accident.
C. Yesterday | witnessed an accident on the way home.

D. Yesterday T on the way home witnessed an accident.

Exercise VIIT: Choose one sentence that has the nearest meaning to the
root one.

46. It takes Mr. Vy 15 minutes to get to the field.
A. Mr. Vy feaves the house at a quarter to five and arrives in the field
at 5.30.
B. Mr. Vy spends fifteen minutes getting to the field.
C. Fifteen minutes is long enough for Mr. Vy to get to the field.
D. Mr. Vy wastes 15 minutes on the way to the field.
47, Although they have little money, they are happy.
A. They have little money so they are happy.
B. They don’t have much money and they aren’t happy.
C. They are happy in spite of not having much money.
D. Their happiness is due to the fact that they have little money.
48. 1 prefer going by cyvclo to cyeling.
AL I'd rather go by cyclo than by bicycle.
B. I like cycling more than going by cyclo.
C. I don’t care going by cyclo or cycling.
D. I like going by cyclo as much as cvcling.
49. Can you tell me when you were born?
AL Please give me your place of birth.
B. Can I have your name and address, please?
C. Can you tell me about your last birthday?
D. I want io know your date of birth.
50. My brother always drives to work.
A. My brother always goes to work in my car.
B. My brother always gets to work by car.
C. My brother always repairs cars at work.

D. My brother’s driver is always off work.
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

l. A.son B. above C. convenience D. wonderful
2. A. marvel B. package C. farther D. fastly
3. AL study B. student C. studio D. stupid
4. A. address B. important  C. master D. embarrass
5. A. holiday B. health C. hobby D. honor

Exercise II: Choose a word in each line that has different stress pattern.

6. A. condition B. profession
C. interaction D. translation
7. AL service B. lobby
C. weather D. receive
8. A. entertainment B. communicate
C. geography D. appropriate
9. A. polite B. problem
C. arrive D. guitar
10. A. decide B. scmester
C. acceptable D. customary

Exercise 11I: There is a mistake in the four underlined parts of each
sentence. Find the mistakes (A, B, C, or D).
I'1. 1 cnjoy to talk with my classmates about their future plans.

A B C D
12. My daughter has been absent from school for three days because her illness.
A B C D
13. Why don’t let him ride his bicycle to school?
A B C D
14. Tom, you didn’t remember closing the windows when you left the
A B C D

classroom yesterday.
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[image: image7.png]15. Mr. Ha is very worried about his son’s traveling because there’s so many traffic
A B C
on the way to and from school.

D

Exercise IV: Choose one correct option for the blank in each sentence.

16. My brother’s new hobby is foreign coins.

A. collection B. collecting C. collected

D. to collect
17. The children agreed _ the candy equally.

A divide B. to divide

C. dividing D. to dividing
18. Do you know the red hat is?

A what B. who C. whom D. whose
19.Bob______ cating a whole bag of chocolate chip cookies before
lunch.

A. denied B. refused

C. objected D. disapproved
20. Is it spending a lot of money on the goods?

Al expensive B. necessary C. worth D. valuable
2]. Mai is interested taking an art course.

Al in B. on C.of D. with
22. The Internet is an important of communication in modern
world.

A. mean B. means

C. meaning D. meaningful
23.1ts kind of you me with my homework.

A help B. to help

C. helping D. to helping
24. You'd better in this weather or you may have a cold.

A.don’t go out B. didn’t go out

C. not went out D. not go out




[image: image8.png]25. The reason he left was that he felt lonely.

A which B. what C. why D. how

Exercise V: Read the following school report and choose the best
answer for each space.

Subject Yo Teacher’s remarks

reports

Science 30% | Has not done very well this term because of several
! absences from school.

Maths [5% | Has scored low marks in the examination because
| he has not done (26) homework.
} Histor 'y 42% | Because of his (27) to answer the last two
! questions, his examination result was very
‘ . disappointing.
‘ Geography ¢ | Fair, but can do better if he tries harder. Has
| 1{28) a lot of homework.
X baaal Studies | 53% " (29) he has made a lot of progress, he still
: needs to try harder, and do more work, especially at
; home.
i English 49% | He can speak fairly (30)7ﬁw; but his written work
is poor.
Art ) 820 | An excellent result. He always works hard as he is
‘ ! very keen (31) painting.
] S?)Eut [ 75% | Has improved a lot (32) he 1s now much
taller and stronger.

Class teacher’s repori:

His examination results are not very good (33) he docs not
i seem to try very hard. He works hard for a short time but he find it difficult
i (34)_____ for longer periods. However, he is popular member of the class
1 (35) his cheerfulness and willingness to help both the teacher and his
clas \mdl\_s
26. A. much B. many
C. alots D. no




[image: image9.png]27. A. defeat B. fault
C. trouble D. failure
28. Al Tost B. missed
C. forgot D. ignored
29. A. But B As
C. Although D. After
30, Al fluent B. fluently
C. fluency D. fluenter
3l A.on B. of
C.at D.in
32 A. when B. before
C. because D.if
33 A, like B. but
C. same D. as
34, A. concentrate B. to concentrate
C. concentrating D. on concentrate
35. A. because of B. as for
C. and D.as

Exercise VI: Read the passage below and choose one correct answer for
each question.

Many people now think that teachers give pupils too much homework.
They say that it is unnecessary for children to work at home in their free
time. Moreover, they argue that most teachers do not properly plan the
homework tasks they give to pupils. The result is that pupils have 1o repeat
tasks which they have already done at school.

Recently in Greece many parents complained about the difficult
homework which teachers gave to their children. The parents said that most
of the homework was a waste of time, and they wanted to stop it. Spain and
Tutkey are two countries which stopped homework recently. In Denmark,
Germany and several countries in Burope. teachers cannot set homework at
weekends. In Holland, teachers allow students to stay at school to do their
homework. The children are free (o help one another. Similar arrangements
also exist in some British schools.




[image: image10.png]36. According 1o the passage, many parents would like their childrento
A. have less homework
B. do more homework
C. have no homework
D. do their homework at school. [

37. In which of the following countries children don’t have any homework
now?

A. Greece B. Turkey
C. Germany D. Holland

38. In which countries can’t teacher set homework at weekends?
A. Spain and Turkey B. Denmark and Holland
C. Germany and Britain D. Germany and Denmark

39. The word “repeat” in paragraph 1 means

A. do again B. state again
C. reuse D. remake

40. According to the passage, which of the following sentences is NOT
TRUE?

A. According many parents, a lot of homework has not been planned
properly.

B. Greek parents thought their children’s homework was not easy.

C. In Greek. parents wanted to stop homework.

D. In all schools in Britain children can do their homework at school |
and help one another.

Exercise VII: Decide one sentence which is best written from the words
provided.

A1 ligh [ aunt ! teaches [ al my ! English | at | school /1.
A. My aunt English teaches at a high school.
B. My aunt teaches at a high school English.
C. My aunt at a high school teaches English.
D. My aunt teaches English at a high school.
42. children 1 household | yvoung | with | tasks / enjoy ! helping /1.

A. Young children enjoy helping with household tasks.




[image: image11.png]B. Children young enjoy helping with houschold tasks.
C. Children enjoy helping with young houschold tasks.
D. Helping with household tasks enjoy yvoung children.
A3, you [ letter | forger I post ! gave [ don’t [ the [ 1110 /].
A. Don’t forget post the letter [ gave to you.
B. Don’t forget to gave the letter I post you.
C. Don’t forget to post the letter I gave you.
D. Don’t forget gave the letter I post to you.
44. Mr. Ha ! about ! traveling / does | worry | son’s | why [ his 11?
A. Why Mr. Ha does worry about his son’s traveling?
B. Why does Mr. Ha worry about his son’s traveling?
C. Why does his son’s traveling worry about Mr. Ha?
D. Why his son’s traveling does worry about Mr. Ha?
45, good | interesting [ and | people [ the | was | the [ were [ food /1.
A. The food was interesting and the people were good.
B. The people was good and the food were interesting.
C. The food was good and the pcople were intercsting.

D. The people was interesting and the food were good.

Exercise VIII: Choose one option that best completes the second
sentence in the following pairs.

46. You ought to go home and have a rest. )
You'd o PSSRSO PO SO PR SNUSOURRNE
A. rather go home and have a rest.
B. rather went home and had a rest.
C. better go home and have a rest.
D. better to go home and to have a rest.

47 Why isn’t this radio working?

A. wrong with this radio?

B. matter with this radio?




[image: image12.png]C. causes this radio not working?
D. happen to this radio?
48, Mr. Thanh doesn’t five near his office.

Mr. Thanh lives

AL far away his office.
B. long from his office.
C. far from his office.
D. fong away from his officc.
49. Phong rides a bike to school every day.

Phong goes oo

A. 1o school every day in bicycle.
B. to school every day by bicycle.
C. by a bike to school every day.
D. with bike to school every day.

50. The street is so narrow that I can’t drive through it.

AL so narrow street that T can’t drive through it.

B. too narrow street that I can’t drive through it.
C. such narrow street that [ can’t drive through it.

D. such a narrow street that I can drive through it.
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Lxercise ¥: Choose the word in each group that has the underlined part
pronounced differently from the rest.

i. A. ambitious B. background  C. tragic D. humane
2. AL extreme B. telephonce C. depend D. went

3. A happen B, many C. example D. family
4. AL clephant B. enable C. better D. pretty
5. AL cleven B. said C. anyone D. camera

Exercise 11: Choose a word in cach line that has different stress pattern.

6. A. November B. diptoma C. interrupt D. romantic

7. AL educate B. chemistry C. mature D. obtain

8. A mathematics  B. university C. difficult D. calculate

9. " Al private B. atomic C. receive D. professor

10, Alintelligent B. sccondary C.appearance  D. development

Exercise 1T1: Insert the word given into the most appropriate place A,
B, C or D of the following senfences.

L1 Insert “had” into the following sentence.

Mr Nam (A) told us (I3) vesterday that (C) he (D) visited London in 2004.
12. Insert “wfter™ into the following sentence.

(A) Mai watched TV (B) she had done (C) her homework (D).
13, Insert “fefi™ into the following sentence.

All the other students (A) had (B) by the time (C) we (1) arrived.
14 Insert “moved” into the following sentence.

Marie Carice had lived (A) in Poland for sixteen (B) before she (O) 1o (D) France.
15 Insert “for™ into the following sentence.

When I met (A) her again. | hadn’t seen (B) her (O) five years (D).
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[image: image14.png]Exercise IV: Choose the best answer to compiete each of the following
sentences.

16. When I was young, I received some _______ training from my father.
A. science B. scientific
C. scientist D. scientifically
17. Wemustsend  aid to the refugees,
A. human B. humanism
C. humane D. humanitarian

18. Nowadays, more and more young people want to have a university

A. educate B. education C.educator  D. educational

19. The purpose of the test is to the weight of the chemical element. i
. . . i
A ease B.interrupt  C. determine D. receive !

20. In the 19" century, it was for a woman to become a doctor.

A. unable B. impossible C.couldn’t  D. incapable

21. He took _ the position that his father had obtained at the
college.
A.on B.to C.up D.in
22. Tran Hicu Ngan was the first Vietnamese athlete __ an b
Olympic medal. |
A. to win B. winning  C. won D. had won
23. After it dry for two months, it rained heavily last night.
A. was B.has been  C. had been  D. would be
24. Jane had gone to the supermarket ____ she got home. ‘i
A. as soon as B. after C. when }
D. before |
25. When | __ to visit him, he  to work. |
A. came / gone B. came / had gone
C. had come — went D. had come — had gone

Exercise V: Read the following passage and choose the best answer for
each blank.

Hypatia was born in Alexandria, in Egypt, in 370 A.D. For many
centuries she was (26) only woman scientist to have a place in the
history books.
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[image: image15.png]Hypatia’s father was directior of Alexandria  University, and he
27) __sure  his daughter had the best education available. This was
unusual, as most women then had few (28) to study.

After studying in Athens and Rome, Hypatia returned to Alexandria
she began teaching mathematics. She soon became famous
her knowledge of new ideas.

(2
3

9)
(30)

We have no copies of her books, (31) we know that she wrote
several important mathematical works. Hypatia was also interested in
technology and (32) several scientific tools to help with her work.

At the (33) many rulers were afraid of science, and (34)
connected with it was in danger. One day in March, 415, Hypatia (35)
attacked in the street and killed.

26, A one B. the Ca D.an

27 A. could B. made C. said D. put

28, A.classcs  B.customs C. opportunities  D. teachers
2. A wherc B. how C. there D. which

30, A.from B. by C. for D.in

3. A.because B. but C.or D. as

32, A.did B. experimented  C. invented D. lezint

33, Alday B. period C. year D. time

M. A anyone  B. nobody C.all D. something
35 A was B. had C. has D.is

Exercise VI: Read the passage below and choose one correct answer for
each question.

Marie Curie, the Polish-born chemist, was a courageous and
determined woman. She was born on November 7, 1867. She left her home
for Paris 1o pursue her interest in science. Living in poverty, she still
managed to graduate at the top of the class. She met Pierre Curie shortly
after graduation and married him a year later.

Together, Pierre and Marie formed the most famous husband—and—
wife partnership in science history. They discovered the radioactive
elements, Polonium and Radium. They were awarded the Nobel prize for
Physics in 1903.
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[image: image16.png]36. The word “determined” in line 1 means most nearly
A. resolute B. found out
C. brave 1. honest
37. What did Maric Curie go to France for?
A.To find a job B. To earn her living
C. To study

38, How was Marie Curte when she fust Iived in Paris?

D. To take up a new hobby

A. bored - B.poor
C.rich D lively
39. How old was Maric Curie when she won the {irst Nobel Prize?
AL 30 years old B. 36 years old
C. 44 years old D. 67 years old
40, Polontumy dsa __
AL country B. science history
. prize D. radioactive clements

|

Exercise VII: Choose one sentence that has different meaning to the root one.
1. We drove to Paris and then Jlew to Rone.

A. After driving to Paris, we flew to Rome.

B. Before flying to Rome, we had driven to Paris.

C. We drove to Paris after we had been flown to Rome.

D. After we had driven to Paris, we flew to Rome.
42, Her Iiving conditions were difficult. However, she studied very well.

A. Although her living conditions were difficuit, we studied very well.

B. She studied very well in spite of her difficult living conditions.
C. Despite {iving in difficult, she studied very well.

D. She studied very well because she lived in difficult conditions.

43. She likes sporis. She likes reading.
A. She likes sports but never likes reading.
B. She likes sports as well as reading.
C. Not only does she like sports but she also likes reading.

ID. She not only likes sports but fikes rcading as well.





[image: image17.png]4 She lad 1o work as a private tutor 1o set money for study.
A She had to work as.a private tutor in order to get money for study.
BB. She had to work as a privale tutor in order that she could get
money for study.
C. So as to get money for study. she had to work as a private tutor.

D. To work as a private tuior, she had to get money for study.

I
O

5. She mer Pierre in 1894 and in the following year they were nurried.
A. She married Picrre in 1895.

B. She got married to Pierre in 1893,

C. She didir’t meet Pierre in 1893.

D. She hadn’t met Pierre until 1894.

Exercise VIII: Choose the best option to complete each of the following
sentences.
46. By the time the boss returned,

AL she would type all the letters B. all the letters was typed

C. she had typed all the letters D. all the letters will have been
typed

471t was 1the most beautiful beach that o

AL we had ever visited B. we has cver visited

C. we should ever visit D. we will ever have visited
48, Lan had turned off the light.

AL After she had gone to bed B. Before she went to bed

C. As soon as went (o bed D. When she was gone to bed

49. 1 he had studied harder, .
AL he won’t have failed the exam
B. he wouldn’t fail the exam
C. he wouldn’t have failed the cxam
D. he hadn’t failed the exam
50.Kim said that _
AL she wasn’t good at English last semester.
B. she hadn’t been good at English the last semester.
C. she wasn’t good at English the semester before.

D. she hadn’t good at English the previous semester.
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

1. A follow B. job C. geography D. develop
2. A all B. walk C. what D. water
3. A. effort B. world C. sport D. before
4. A. fall B. watch C. bottle D. wrong
. A. awful B. quality C. corner D. fourteen

Exercise I1: Choose a word in each line that has different stress pattern. |

6. A. enjoy B. prevent C. special D. attend

7. A.different  B. disabled C. consuming D. activity

8. A.educate  B. secondary C. biology D. suspicious
9. A. explain B. gradually C. development  D. profession
10.  A.opposite  B.employed C. condition D. important

Exercise II1: Choose one option that has the opposite meaning to the
word given.

11. add
A. divide B.subtract  C.reduce D. pronounce
12. mental ‘

A. physical  B. chemical C. historical D. political
13. spirit

A. head B. stomach  C. mind D. body
14. proud

A. dissatisfied B. disabled ~ C. disappointed D. dishonest
L5. professional

A. skilful B. unable C. amateur D. complex

22





[image: image19.png]Exercise IV: There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).

16. Yesterday Duong got mark 10 in maths, that made him very happy.

A B C D
17. We should raise money to help the poverty in our city.
A B C D
18. My aunt used to doing voluntary work in the local orphanage.
A B C D
19. The young is not fully aware of the importance of learning English.
A B C D
20. If you have any question during the examination, please rise your hand.
A B C D

Exercise V: Choose the best answer to complete each of the following
sentences.

21. He rushed into the burning building, was very brave.
ALt B. who C. that
D. which
22. My father didn’t coffee for breakfast.
A. used to have B. use to have
C. use to having D. use be having
23. The government should have special policies to help the
A. disable B. disabled
C. disability D. disablement
24. The unemployed _ in a strike to ask for employment.
A. are gathering B. has gathered
C. gathers D. was gathering
25.1 up late at night.
A. use to stay B. am used to stay
C. used to staying D. am used to staying
26. The blind child a great effort to learn “Braille”.
A. did B. got
C. made D. created
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[image: image20.png]27. There was alot of ____ from the local residents.

A. oppose B. opposite
C. opponent D. opposition
28. 1I"d like to introduce you to Mrs. Thuy, __ isthe teacher of this
special class.
A. that B. which C. who D. whom
29. The children will learmhow __ _ sumns.
Al todo B. doing C. do D. will do
30. Mrs Thuy’s class is very different other ones.
A than B. from C. with D.as

Fxercise VI: Read the following passage and choose the best answer for
cach blank.

LLOUIS BRAILLE
(1809-1852)

Louis Braille was the son of a French leather worker. He (31)__
blind at the age of three when he fell on a tool in his father’s workshop. But
Louis was a (32)____ and talented boy. He wanted to be a musician, so he
learned to play the u,llo and at the age of ten he (33) a scholarship to
the National Institute for Blind Children in Paris. He could play the cefio,
(34 he couldn’t read or write.

In 1819 a French soldier, Charles Barbier, (35)__ “night writing”.
He used patterns of twelve raised dots on paper so that soldicers could read
(36)____ the dark. Louis Braille understood the importance this invention
for blind people and (37)_____ he was fiftecn, he began to develop it. He
made it (38)___ . with six dots, not twelve. In 1829 he introduced it at the
Institute.

By 1932 “Braille” was (39)__ all over the world in many
languages, but fortunately Louis died of tuberculosis in 1852 and never
(40)__ of the importance of his invention.

31 AL came B. went C. reached D. got

32. AL brave B. courage  C.able D. possible
33, A. defeated  B. beat C. became D. won

34, A. 80 B. and C. but D. however





[image: image21.png]35, A.invenied Bl discovered C. found out D. set up

36. A. under B.in C. with D. of

7. AL then B. while C.at D.when

38. AL simply B. simpler C. more simpler D. more simpler
39 Alforuse B. forusing C.inuse D. i usage

40. A. understood B. knew C. aware D. saw

Exercise VII: Read the passage below and choose one correct answer
for each question.

American Sign Language (ASL), which is the first language of many
deaf people in North America, uses hand gestures, facial expressions, and
other body movements to communicate. ASL is one of the four most
commonly used languages in the United States.

ASL was first introduced to America in 1817. In that year, a French
teacher who came to America 1o teach brought with him the French Sign
Language (FFSL) and taught it to his deaf students. The students then added
their own American signing and changed the FSL into the ASL. Modemn
ASL and FSL share some elements, including a large amount of vocabulary.
However, an ASL user cannot understand an FSL user.

No one form of siza language is universal. For example, British Sign
Language (BSL) differs notably from ASL. Different sign languages are
used in different countries or regions.

41. What s the main topic of this passage?
AL Sign languages for the deaf.
B. The way deaf people communicate.
C. How was ASL introduced to America.
D. The differences between FSL and BSL.
42. How many most commonly used languages in the USA?
Al B.2 C.3 D.4
43. How did people change the FSL in to the ASL?

AL native signing was added B. vocabulary was added
C. hand gestures were added D. American language was added

44. What does the word “it” in paragraph 2 refer to?
AL ASL B. FSL C.BSL D. vocabulary

(8]
]




[image: image22.png]45. According to the passage, which of the following statements 1s NOT true?

A. The deaf use their body movements to communicate.
B. A French teacher introduced FSL to Americans.
C. People who use ASL can understand those who use FSL.

D. There is no universal sign language.

Exercise VIII: Choose one sentence A, B, C, or D that best rewrites the
sentence given in italic.

46. People who are out of work are increasing in our country.

A. There is a decrease in the number of unemployed people in our
country.

B. There is an increase in the number of workers in our country.
C. The unemployed in our country are increasing.

D. The unemploved who have work are increasing in our country.

47. Mrs. Quyen taught the mute but she doesn’'t do it any more.

A. Mrs. Quyen used to teach the mute.
B. Mrs. Quyen has used to teaching the mute.
C. Mrs. Quyen gets used to teach the mute.

D. Mrs. Quyen is used to teaching the mute.

48. Mai didn't come to class yesterday. This surprised all of us.

A. Mai didn’t come to class yesterday that surprised all of us.
B. This Mai didn’t come to class yesterday surprised all of us.
C. Which surprised all of us that Mai didn’t come to class yesterday.

D. Mai didn’t come to class yesterday, which surprised all of us.

49. They didn't have proper schooling because they were poor.

A. Poverty prevented them from having proper schooling.
B. They were poor but they still had proper schooling.
C. They had proper schooling because they were poor.

D. Poverty didn’t discouraged them from having proper schooling.





[image: image23.png]50. The students keep complaining about the poor service of the canteen.

A. The students sometimes complain about the poor service of the
canteen.

B. The students are always complaining about the poor service of the
canteen.

C. Complaining about the poor service of the canteen is kept by the
students.

D. The poor service of the canteen always keeps the students
complaining.
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

I. AL put B. full C. sugar D. fun

2. A. blood B. tooth C. food D. choose
3. A fruit B. through C. good D. June

ES A. woman B. duty C. {oot D. pudding
5. AL afterngon  B. boot C. hook D. pool

Exercise II: Choose a word in cach line that has different stress pattern,

6. A. hardware  B. appear C. office D. manage
A computer R pagical C. entertain D. calculate
8. A. appropriate B. miraculous C. communicate D. accuracy
9. A device #opersonal  C. beautifully D. television
10. A. preparc B display C. decument D. interest

Exercise I1I: Read each of the folowing lists of four words and choose
one word in each list that does not belong to the group.

11 AL keyboard B. computer screen
C. speaker D.CPU
12. AL cam—recorder B. television
C. calculator D. communicator
13. A. bicyele B. motorcycle
C. automobile D. airplane
14 AL fax machine B. cooker
C. printer D. photocopier
15, AL typewriter B. author
C. engineer D. scientist





[image: image25.png]Exercise IV: There is a mistake in the four underlined parts of cach
sentence. Find the mistake (A, B, C, or D).

16. My brother has driven his car to work every day when he bought it.

A B C D
17. The air conditioner who is in the sitting room is out of order.
A B C D
18. Vietnam’s first man—made satellite has just sent up into space.
A B C D
19. Ididn’t usc the computer since last week so I don’t know what's wrong with it.
A B C D
20. The television which we bought it five days ago gives very good pictures.
/ B C D

Exercise V: Choose the best answer to complete each of the following
sentences.

21. My aunt has just boughtan cooker.

A electric B. electrical

C. clectricity D. electrician
22.A 1s used to copy the information from a computer on to
paper.

A. photocopier B. printer C. speaker D. mouse
23. Thisrobotis _____ of doing almost anvthing vou ask.

A. able B. possible  C. capable D. could
24.The Internet helps us tointeract _______ other people around the
world.

Allo B. from C.of D. with
25. Robert is going to be famous someday. He in three movies
already.

A appeared B. had appeared

C. has appeared D. has been appearing
26. The chemistry book was a little expensive.

A. that I bought it B. I bought that

C. what T bought D. that [ bought




[image: image26.png]27. Do you remember Mrs. Huong, taught us English
composition.

A. who B. whom C. that
D. which

28. I’ve been in this city for a long time. I here sixteen years ago.
A. have come B. was coming C. came D. had come

29. The man died because medical help was not summoned. A doctor should

. immediately.
AL have called B. been called
C. called D. have been called
30. Oh, no! I don’t believe it. My mobile phone
AL s stolen B. was stolen
C. has been stolen D. was being stolen

Exercise VI: Read the passage below and choose the best option for
each numbered blank.

Mos! people agree that computers are the most important (31)_
of the 20" century. The first business computers (32) introduced just
about fifty years ago, and now they are being used in a wide (33) of
fields, from banking to space travel. (34) , until just a few decades ago,
computers were very large, expensive machines (35) by large
corporations and governments. Although everyone knew that computers
cxisted, very few people had ever seen one and even (36) had used
one. Then in the 1970s the silicon chip was invented. Because this electronic
device could (37) a large amount of information in a very small space,

computers could be much smaller and less expensive (38) the huge
mainframe computers used (39) corporations. Some computer
manufacturers believed that people might like to have computers in
40 homes, offices, and schools, so the personal computer was born.
31.  A.invention B.discovery C. finding D. view

32. A. arc B. were C. have been D. had been

33. A lots B. many C. variety D. group

34, A.However B.Moreover C. Therefore D. Still

35. A had B. was C. belonged D. owned

36. Al less B. fewer C. more D. larger





[image: image27.png]37. AL stock B.provide  C. store D. hide
38. AL than B.as C.so D. like
39. A with B.together  C.of D. by
40. A our B. his C. their D @

Exercise VII: Read the passage below and choose the best answer for
each question.

When robots are widely used in the home, they will probably be used
to do the cleaning, table-laying, scrubbing and washing—up, but it is
considered unlikely that they will be used to do the cooking — at least, not in
the near future.

In factories, mobile robots are already used to carry out a large
number of the distribution and assembly tasks while human beings carry out
tesearch and produce plans for new products. Among the numerous jobs on
the farm, robots will drive tractors, keeping their eyes on the ground in front
to guide the tractor along a straight line.

The majority of the robots used at present do not look like human
beings at all because their design is chiefly functional.

41. According to the passage, when used at home, robots will probably do
all of the following EXCEPT

A. laying the table B. washing the dishes
C. washing the clothes D. scrubbing

42. In factories what are robots used to do?
A. carry out assembly tasks B. carry out research
C. produce plans D. both Band C

43. The word “their” in paragraph 2 refers to
A. tractors’ B. robots’
C. people’s D. farms’

44. Why don’t robots at present look like human beings?
A. Because they are widely used at home.
B. Because they are mainly used in factories.
C. Because they are only used to guide tractors.
D. Because they are mainly produced according to their function.

31




[image: image28.png]45, Which of the following statements is NOT true about robots?
A. They will be used to do the cleaning.
B. In the near future they will be used to cook.
C. They are alrcady used to carry out the distribution tasks.

D. They will be used 10 drive the tractor.

Exercise VHI: Choose A, B, C, or D which shows the best way of
making a sentence from the words provided.
46, who [ hear [ deaf | ene [ can’'t { anything !« person [ the Jis /.
A. A deaf person is the one who can’t hear anything.
B. A dead person is the one who anything can’t hear.
C. A deaf one is the person who anything can’t hear.
D. A one who can’t hear anything is the deaf person.
F7 becn onr fal fas Dbuilt {village [ new [ just £ in ! school 11,
AL A new school in our village just been has built.
B. A school new has been just built in our village.
C. A school new in our village built has just been.
D. A new school has just been built in our village.
A8, machine | can ! calenlations | a | electronic [ a ! small | that | caleulator
Jdofis il
A A small electronic machine i a caleulator that can do calcutations.
B. A small electronic calculator can do calculations that i§ a machine.
C. A caleulator is a small electronic machine that can do calculations.
D. A calculator that can do calculations is a electronic small machine.
A9 we fseen Hleft [ haven 't 1 we [ since | school | her /1.
AL We left school since we haven’t seen her.
B. We havent seen her since we left school.
C. We haven't left school since we seen her.
D. We feft school since we haven’t seen her.
S0 know Lwhich I computers | do | shop | sells [ you [ a if?
A. Do you know a shop which sells cheap laptops?
B. Do you know whick a shop sells cheap laptops?
C. Do you know laptops which a cheap shop sells?
D. Do you know cheap shop which sells a laptop?
]
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

[ A picture
2. AL waorse
3 A. husband
4. A. burn

S A. thirteen

B.
B.
B.
B.
B.

classmate
world
button
shirt

sccond

C. pagoda
C. sword
C. circus
C. working

C. suggest
UL

D. center
D. worm
D. funny
D. answer
D. problem

Exercise : Choose a word in each line that has different stress pattern.

6. A. reason

7. AL beside

8. A. understand B.
9. A. occasional B.
10. A. persuade

B.
B.

B.

resort
belicve

altitude

C. mountain

C. enjoy

C. interesting

geography C. information

request

C. progressive

D. forest

D. weather

D. photograph
D. participant
D. fortunate

Exercise I1I: Choose one option that has the opposite meaning to the

word given.
1. below

A. beneath
12. fortunate

A. unlucky
13. busy

A. poor
14. refuse

A permit
15. give up

AL quit

B.

B.

B.

B.

B.

above

unsuccessful

free

allow

cancel

C. among

C. impossible D.

C. fresh

C. request

C. continue

D. inside

impatient

D. glorious

D. accept

D. increase

Exercise JV: There is a mistake in the four underlined parts of cach
sentence. Find the mistake (A, B, C, or D).

16. We will going to spend our summer hotiday in Da Lat next month.

A

B

C

D

a3
oy




[image: image30.png]17. We have a small party in onc of our teacher’s houses tomorrow evening.
A B C D
18. Only today we have learnt that the caves are cJosed until alter Tet,
A B cC . D
19. 'm going to have a four-days trip in Ho Chi Minh City.
A B C D
20. Qur teacher jsn’t seeming very happy at the moment.

A B C D

Exercise V: Choose the best answer to complete each of the following
sentences.,

21. Tomand I to Mary’s birthday party together.

A.am going B. are going
C. will going D. are going to go
22. You’ve heard she isn’t coming to the meeting, _ ?
AL is she B. haven’t vou
C. aren’t you D. hasn’t she
23 Plluyto _ herto go with us.
A persuade B. suggest C. propose
D. offer
24. This semester in geography we have studiedrock ___
AL information B. formal C. mnformal
D. formations
25. We're going to make a two-day ____ tovisit Huong Pagoda.
A. trave] B. excursion C. voyage D. gone
26. T know that he ____ inthe library at this moment.
AL works B. has worked
C. 1s working D. was working
27. She . sixteen years old next Saturday.
Alls B. is going to C. will be D. has
28.1 our teacher tomorrow, so I shall give him your note.
A. have seen B. going o see
C. shall have seen D. am seeing





[image: image31.png]29. Tthink they’re going to visit Sa Pa, ?

A. aren’t they B. are they going C.dol
D. don’t 1
30. Our class _ a picnic at Thay Pagoda this Sunday.
A. am having B. will has
C. is going to have D. go to have

Exercise VI: Read the following passage and choose the best option for
cach blank.

I’'m going to give you the details of our camping trip next week. The
coach will be outside the school on Monday morning at 7.30 and we will

(31) at 7.45 so don’t be late. There’ll be (32) on the coach for
one bag so please don’t bring (33) _ one bag or suitcase. You don’t
need to bring tents or food as that’s all (34) ~ for us. It is often hot
during the day, but it (35) cold at night so bring warm clothes. 1f
we're lucky though, the sun will shine and we’ll be (36) to use the
outdoor pool on the site so don’t forget your swimming things.

The campsite is in the (37) of the countryside so if you’ve had
(38) fresh air by then, you may want to go shopping in the nearest
town about four kilometers away. There’s (39) to do there and
there’s a bus that stops outside the Post office in the village down the road.
Il40y_ it to you when we get there.
3. Alsctup B. set off C. turn up D. turn off
32, A.room B. site C. seal D. stair
33 A muchas  B.more as C. more than D. little than
3. A.charged  B.delivered  C. bought D. provided
35, Al tums B. alters C. changes D. shows
36.  A.able B. capable C. possible D. desirable
37, A.core B. middle C. behind D. among
38 A. much B. too C. enough D. few
39. A many B. number C. great deal D. plenty
40. A. give B. point C. shoot D. get




[image: image32.png]Exercise VII: Read the four passages and answer questions 41 — 45 by
choosing A, B, C or D.
A. Ashton

The High Street with jis small, tradition cottages and excellent
restaurants, is next to the stony beach where the fishermen still sell their fish
every morning. There is a small cinema and popular classical concerts are
held every Saturday in the Town Hall. The East Coast long—distance path
passes nearby.

B. Brightsea

Once a fishing town, Brightsca is now yachting center with the best
sailing on the East Coast. There are excellent walks along the river which
give naturalists the chance to study the birdiife in this arca. Good campsite.
C. Northgate

This is an attractive old town standing on the cliff top overlooking the
sea. Winner of the Good Beach and Campsite prize and famous for its
pleasant old streets and fishermen’s cottages, one of which is now a museum
of 19"—century life.

D. Alton Sands

A successful combination of holiday center and fishing port, The
South Beach is particularly clean and well kept. It’s possible to hire a sailing
or rowing boat for the day here. Outdoor swimming pools and tennis courts
make this town an ideal place to spend your holiday.

Which place

41. can we see fishermen sell fish in the morning?

42. can we play tennis or going sailing?

43. has won big prize?

44. gives naturalists opportunity to study the bird life?

45. can we listen to classical music on Saturday?

Exercise VIII: Choose one option that best rewrites the sentence(s)
given.

46. There is a hole in the bottom of the boat. A lot of water is coming in
through the hole.

The boat





[image: image33.png]A. was sinking
B. 1s going to sink
C. will be sunk
D. is being sunk
47. We're arranged to meet you at § a.m. tomorrow.
L O OO PO PSSP R PP RS PR R PP
A. are meeting
B. will meet
C. were going to meet
D. have met

48. Do you have any intention of spending your holiday in Nha Trang?

A. you having intention of spending your holiday in Nha Trang?
B. spending your holiday in Nha Trang?
C. you intending to spend your holiday in Nha Trang?
D. you going to spend your holiday in Nha Trang?

49.T have never been to Lake Michigan before.

TRES £S5+ -+ e e e et et e e e ete et m et n e b e et
A. the first time I’ve ever been to Lake Michigan.
B. the first time I went to Lake Michigan.
C. the last time I've gone to Lake Michigan.
D. the only time I’ve been to Lake Michigan.

50. The students are cxcited at the thought of swimming in the sea.

TRE STUGRIIES s s

A. are going towards swimming in the sea.
B. are thinking with swimming in the sea.
C. are looking forward to swimming in the sea.

D. are having a look of going in the sea.
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

1. AL height B. life C. eighty D. sky

2 AL says B. plays C. stays D. bays

3. A. enjoy B. boy C. going D. voice

4. A. mail B. fair C. nature D. radio

3 A. climb B. populatize C. wild D. magazine

Exercise II: Choose a word in each line that has different stress pattern.

6. A.adventure  B. advantage C. advertise D. adviser

7. A. recommend B. comedy C. punishment D. national

8. A.interfere  B. responsible C. education D. documentary
9. A. forccast B. programme C. media D. cartoon

10. A. channel B. intend C. presenting D. deliver

Exercise 1I: Choose the word having the same meaning as the
underlined part.
11, 1t rained very heavily last night.

AL hard B. deeply C. little D. hardly
12. Because of her illness, my daughter couldn’t go to school.

A. stormachache B. backache C. sadness D. sickness
13. We receive information from radio through ears.

AL orally B.visually  C. aurally D. usually
14. Television increases the popularity of sports and games.

AL lower B. raise C. arouse D. balance
5. There is a good film on TV tonight.

A. play B. comedy C. drama D. movie
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Exercise IV: There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).

16. The weather has been quite good at Christmas.

A B C D
17. We had to cancel the match because the bad weather.
A B C D
18. In spite of the house was in bad condition, it was sold at a high price.
A B C D
19. I didn’t watch a football match on TV for a long time.
A B C D
20. How long is it since you have seen our former teacher?

s it ¢
B

A C D

Exercise V: Choose the best answer to complete each of the following
sentences.

21. One disadvantage of TV is that it interferes family life.

A. for B.to C. with D.of
22. A film which is made by photographing a series of changing drawings is
called a

A. drama B. cartoon C. comedy D. documentary
A _ presents information and entertainment orally.

A. Radio B. The Internet C. Television D. Newspaper
4.1 _ acough since yesterday.

A. have B. had C.have had  D. was having
25.The radiois _____ loud. I can’t hear anything.

A.too many B. too much C.afew D.alot
26. The teacher has come into the room.

AL still B. already C. yet D. lately
27. This is the second time that you have seen this film, 7

A.isn’tit B. haven’t you C.don’t D.isn’t this
8. - the heavy rain, he went our without a raincoat.

A. Although B. In spite C. Despite D. Even

39




[image: image36.png]29. There were a lot of accidents the icy roads.

A.thanks to B. owing of C. because D. because of
301 tohim three times since he o ___tolive here.

A talked - came B. have talked — came

C. talked - has come D. have talked — has come

Exercise V1: Read the following passage and choose the best answer for
cach blank.

Press a button and there’s the music you like best. Press (31)
button. and the news comes through from a city (32)____ kilometers away.

Turn the dial, and you can (33)_ a foreign language from a far country.
That’s radio — still (34) “wireless” by many older people - and it
(35) part of our everyday lives for generations.

As you tune (36)__ your favourite programmes, do you ever
wonder just (37)____ it is that you can hear those sounds? How do they
travel through the air and (38) your radio exactly as they are sent out?

It all began nearly a hundred vears ago (39) 2 young Italian
called Guglietno Marconi discovered how (40)____ sounds through the air.
31. A. another B. other C. others D. the other
32. A.hundreds  B. hundred of C. hundreds of D. of hundred
33. Al fisten B. hear C. listen with D. hear to
34 A named B. titled C. got D. called
35. Al ls B. was C. has been D. had been
36. A.into B. for C.in D. with
37. Ao whether B how C. what D. when
38 AL get B. come C. arrive D. reach
39. A.when B. while C. just D. in which
40. AL sending B. to send C. sent D. to sending

Exereise VII: Read the passage below and choose one correct answer
for cach question.

Television is one of man’s most important means of communication,
It brings pictures and sounds from around the world into millions of homes.

40




[image: image37.png]A person with a TV set can sit in his house and watch the president make a
speech or visit a foreign country. He can see a war being fought and watch
statesmen try to bring about peace. Through television, home viewers can
sce and learn about people, places and things in far away lands. TV even
takes its viewers out of this world. It brings them coverage of America’s
astronauts as the astronauts explore outer space.

In addition to all these things, TV brings its viewers a steady stream of
programmes which are designed to entertain. In fact, TV provides many
more entertainment programmes than any other kind. The programmes
include action—packed dramas, light comedies, sporting events and motion
pictures.

41, What is the main idea of the passage?
A. The importance of television
B. Visiting foreign countries through television
C. Exploring outer space
D. Entertainment programines on television

42. On television what can we see the president do?

A. make a speech B. visit a foreign country
C. bring about pcace D. both A and B

43. What does the word “them™ in the last sentence of the first paragraph
refer to?

A places B. viewers

C. astronauts D. statesmen

44. According to the passage, which of the following is NOT in the list of
entertainment programmes?

A. drama B. comedy
C. sports event D. quiz show

45. According to the passage, which of the following statements if NOT
true?

A. TV only brings pictures around the world into homes.

B. Through TV we can learn about people in far away lands.

C. TV viewers can watch spacemen explore outer space.

D. TV provides more entertainment programmes than any other kind.

41




[image: image38.png]Exercise VII1: Choose one sentence that has the different meaniizg to
the root one.
46. I spite of her good salary, Mr. Green decided to leave the Job.

A. Although Mr. Green had a good salary, he decided to leave the
job.

B. Mr. Green decided to lcave the job despite having a good salary.

C. In spitc of the fact that Mr. Green had a good salary, he decided to
teave the job.

D. Mr. Green decided to leave the job owing to his good salary.
1.1 haven 't watched a good film for a long time.

A. I'watched a good film at the early age.

B.It’s ages since T last watched a good film.

C. Tlast watched a good film a long time ago.

D. The last time I watched a good film was a long time ago.
48. 1 didn’t buy the colowr TV because it was expensive.

A. The colour TV was expensive, so I didn’t buy it.

B. I didn’t buy the colour TV becausc of its price.

C. The colour TV was expensive. However, 1 bought it.

D. The reason I didn’t buy the colour TV was that it was expensive.
49. Iwant to know when you started working as a television presenter.

A. When did you begin working was a television presenter?

B. When did you start working for a television presenter?

C. How long is it since you started working as a television presenter?

D. How long have you worked as a television presenter?
50. Even though Trung had a bad cold, he went 10 the concert.

A. In spite of his bad cold, Trung went to the concert.

B. Trung had a bad cold because he went to the concert.

C. Trung went to the concert despite having a bad cold.

D. Trung had a bad cold. However, he went to the concert.
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Exercise It Choose the word in each group that has the underlined part
pronounced differently from the rest.

1. A cow B. prow C. narrow D. follow

2. A. about B. soul C. ground D. mountain
3. A. close B. sold C. hope D. crop

4. A. road B. boat C. broad D. coat

5. A. crowd B. town C. how . D. show

Exercise II: Choose a word in each line that has different stress pattern.

6. AL village B. parent C. produce D. college

1. A. method B. result C. condition D. improve

8. A. education  B. technology C. community D. conditional
9. A.manage  B.reswrface  C lifestyle D. atmosphere
0. A.motorbike B.technical ~C. grandchildren D. introduce

Exercise I11: Read each of the following lists of four words and choose
one word in each list that does not belong to the group.

It.  A.crop B. field C. straw D. export
12. A.lower B. widen C. resurface D. lengthen
13, A.simple B. peaceful  C. rapid D. fresh

4. A.lory B. cart C. car D. bus

5. A. flooded B.crowded  C.icy D. muddy

Exercise IV: There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).

16. He said that the lifestyle of his village has changed a lot for the last five years.
A B C D
17. 1f this road was widened, cars and lorries can get to our village.
A B C D
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A B C D
19. Phong told me that his father was working in the garden now.
A B C D
20. I’d lend you my book if I have finished reading it.
A B C D

Exercise V: Choose A, B, C, or D to complete cach of the following sentences.

21. If the weather _____ nice tomorrow, we swimming.
A.ls—go B. is — will go
C.will be — go D. will be ~ will go
22. He said that he going to the country soon.
Alls B. will be C. was D. has been
23. Despite the poverty, they to send their children to college.
A.succeeded B. obtained  C. managed D. completed

24. T hope they can find a way of their lives.

A. welling B. bettering  C. gooding D. besting
25. The roads will be flooded we resurface and raise them.
Alif B. unless C. when D. so
26. My brother told me that they had worked in the field all day
A. yesterday B. the next day
C. two days ago D. the previous day

27.1f Tom is late again, he his job.

Al loses B. lost
C. will lose D. would lose
28. Inthe pastthere ___ many big trees in our village.
A used to be B. used to being
C. are D. have been

29. We will go skiing if it this winter.
A. snows B. snowed

C. will snow D. is snowing

44




[image: image41.png]30. The farmers had to work on their farms and could ___
make ends meet.

A. hard — hard B. hardly — hardly
C. hardly —hard D. hard - hardly

Exercise VI: Read the following passage and choose the best answer for
each blank.

I live in a small village called Smalville. There are about 500 people

here. I love the village (31) it is very quiet and life is slow and easy.
The village is always clean — people look (32) it with great care. The
air is always clean, (33)_ . It is much more friendly here (34) na
city because everyone knows everyone clse, and if someone has a problem,
there are always people (35)___ _ can help.

There are only a (36) things that I don’t like about Smalville.
One things is that we don’t have (37) things to do in the cvening. We
don’t have any cinemas or theaters. (38) thing is that people always
talk about (39)_ other, and everyonc knows what everyone else fs
doing. But I still (40) village life to life in a big city.
3. Also B. because C. but D. therefore
2. Aat B. for C. into D. after
3. Altoo B.so C. either D. neither
M. Alas B. than C. with D. like
35, Ao which B. whom C. who D. whose
36 Allittle B. few C. small D. lot
3. A.many B. much C. some D.a
38, A. Other B. Others C. The other  D. The others
39.  A.an B. one C. every D. each
40. Al like B. prefer C. love D. would rather

Exercise VII: Read the passage below and choose one correct answer
for each question.

On the farm of today, machines provide almost all the power. Modern
farmers now have mechanized "hired land” and keep horses only for
pleasure. Besides developing new machinery, scientists and engineers have
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stronger fertilizers, more effective insecticides. and hybrid seeds which
produce farger, tastier fruits and vegetables. Some farmers even have
computers which help them use their resources more efficiently. As a result
the farm of today are able to produce much more food with the same amount
of labor. This means fewer but larger farms and fewer but more prosperous
farmers.

41. What do modern farmers keep horses for?
A. meat B. plow
C. pleasure D. sale
42. Who has developed new machinery?
A. Only scientists B. Only engineers
C. Scientists and farmers D. Scientists and engineers

43. The farmers use compulers to _

A. play computer games B. help them use resources
efficiently
C. type documents D. send e-mails

44. The farms today are o

A. fewer but larger B. fewer and smaller

C. more but smaller D. more and larger
45. The farmers today are _____ than they used to be.

A. richer B. poorer

C. more D. less powerful

Exercise VHI: Cheose one sentence that best rewrites the root one.
46. Direct speech: “I'm coming back to my home fown tomorrow, " Mai said.
Indirect speech: A, Mai said that T am coming back 10 my home town
LOMOITOW.
B. Mai said that she is coming back to her home town
the next day.
C. Mai said that she was coming back to her home town
{OMOIrow.
D. Mai said that she was coming back to her home town
the following dav.
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A. I you don’t go to bed immediately, you can’t get up early
tomorrow.

B. If you go to bed immediately, you can’t get up early tomorrow.

C. If you didn’t go to bed immediately, you couldn’t get up early
tomorrow.

D. If you went to bed immediately, you could get up carly tomorrow.

48. Indirect speech: He said that his village had been very poor many years

before.

Direct speech: A. “My village had been very poor many years ago.”
B. “My village has been very poor many vears
before.”

C. “My village was very poor many years ago.”
D. *My village is very poor many years before.”
49.If the homework is difficult, I will ask you for help.
A. Unless the homework 1s difficult. T will ask you for help.
B. Unless the homework is easy. I will ask you for heip.
C. Unless the homework is easy, I won’t ask you for help.
D. Unless the homework isn’t difficult, I won’t ask you for help.
50. I'm very pleased to see you soon.
A. Tlook forward to see you soon.
B. I'look forward for sceing you soon.
C. ’'m locking forward see you soon.

D. I’'m looking forward to seeing you soon.
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Time: 45 minutes

Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

I. AL scream B. health C. teaching D. seatbelt
2. A. mouse B. cousin C. country D. trouble
3. AL Internet B. press C. better D. media
4. A. opposite  B. sorrow C. computer D. crop

. A. ook B. cartoon C. schooling D. food

Exercise II: Choose a word in each line that has different stress pattern.

6. AL resort B. shortage  C. feature D. software

7. A. processing B. picturesque C. disable D. diploma

8. A.exhibition B. photogenic C. miraculous D. documentary
9. A.announce B. insert C. permit D. bumper

10. A. alternative B. marital C. humane ~ D. romantic

Exercise 111: Choose the best answer to complete each of the following
sentences.

1i. Another word for gift is

A.presence  B.disabled  C. special D. talent
12. The opposite of passive is .
Al active B. typical C. professional D. tragic
13. The road through our village is so narrow that the local government have
decidedto ______ it
A.increase  B. extend C. widen D. lengthen
14. Pleasc _ your hand if you want to ask somcthing.
Al rise B. raise C. pull D. push
15. _ 108 if you want to speak to the telephone operator.

A. Ask B. Hear C. Dial D. Turmn
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AL s repaired B. has repaired

C. repaired D, has been repaired
[7.Nam ____ his hair cut twice a month.

AL has B. have C. will have D. get
8.0 . dovoulook sosad?”

="l got bad marks i the first semester exam.”

A. What B. How C. Who D. Why
19. The students refused _____ to the meeting in the afternoon.

AL returning B. 1o return

C.return D. to returning
0. he comes here b i

AL make him do B. make him doing

C.owill make him do D. will make him doing
21 Would yvou mind down the radio, please?

A turn B.to tum C. turning D. turned
2 Hediedalterhe _ ilb foralong time.

AL was B. had been

C. has been D. would have been
23. They are living in the house __ they bought Jast month.

A. which B. where C. when D. who
4. Mrs. Phuong ___ out of hospital next week.

AL comes B. is coming

C.is going to come D. shall come
A _ihe bad condition of the house, we didn™t buy 1t

A Thanks to B. Apart from

C. Inspite of D. Because of

Exercise IV: There is a mistake in the four underlined parts of cach
sentence. Find the mistake (A, B, C, or D).

26. We must take better care of old in our country.





[image: image46.png]Exercise VII: Choose A, B, C, or D) which is best written basing on the

words provided.

16, already {10/ Jack { that [ writien | headnaster [old | the / had Fme [ he 1.
A. Jack told me that he had already written to the headmaster.
B. Juck told me that he already written had to the headmaster.
C. Jack had writien already to the headmaster he told me that.
D. Jack told he had me had already written to the headmaster.
A7 meal Hweeks Dwe L al for Hhaven't] good | three [ had !/
A. We haven’ta good meal had for three weeks.
B. We haven’t had three weeks for a good meat.
C. We haven’t had a good meal for three weeks.
D. We for three weeks haven’t had a good meal.
A8, sister | going I get L next my [is ] 1o married fweelk /1.
A. My sister going to get is married next week.
B. My sister is going to get married next week.
C. My sister next week is going to married get.
D. My sister get to is going marricd next week.
9. putients 1 looks | person [ is Falwho ! after I nurse /all.
A. A person who is a nurse paticnts tooks after.
B. A person is a nugse who looks patients after.
C. A nurse who is a person looks after patients.
1. A nursce is a person who looks after patients.
30, couldn 't 1o/ which  pity 1 Dr. Phong | come ! the | a/ was | purty 1.
A. Dr. Phong was a pity, which couldn’t come to the party.
B. Dr. Phong. which was a pity couldn’t come to the party.
C. Dr. Phong, which couldn’t come to the party was a pity.

D. Dr. Phong couldn’t come to the party. which was a pity.
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

1. AL bowl B. snow C. how D. harrow
2. AL passion B. nation C. status D. raise

3. A. insert B. persuade  C. alternative D. term

4. A. widen B. dial C. site D. gift

5. A. method B. mental C. left D. comedy

Exercise IT: Choose a word in each line that has different stress pattern.

6. A.atmosphere B. aurally
C.assemble D. altitude

1. A. curriculum B. picturesque
C. mathematics D. destination

8. AL wildlife B. holiday
C. glorious D. subtract

9 A. communicate B. photograph
C. permission D. semester

10. Al brigade B. profession
C. ambition D. forecast

Exercise I1I: Choose A, B, C, or D) which is similar in meaning to the
underlined part in each sentence.
If. Radio presents information and entertainment through mouth.
A orally B. aurally C. visually D. rarely
12. The air—hostess showed me how to fasten the seatbelt.
A. policcwoman B. actress C.stewardess  D. passenger
" 13.Did you get good marks in the first semester tests?

A class B. tcrm C. year D. scason
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A required B. forced C. persuaded D. stimulated
15. The farmers had bumper crops this year.

A. good - B. bad C. disappointing D. cash

Exercise IV: There is a mistake in the four underlined parts of cach
sentence. IFind the mistake (A, B, C, or D).

16. Jane didn’t feel like to work. so she suggested spending the day in the garden.

A B C D
17. When we met again, we haven’t seen each other for five years.
A B C D
I8. Dennis used to smoking twenty cigarettes a day when he was young.
A B C D
19. A blind person is the one which cannot sce anvthing.
A B C D

20. The ferry couldn’t sail because of the sea was rough.

A B C D

Exercise V: Choose the best answer to complete each of the following
sentences.

21. My brother said that going to buy a new car.
A.'m B. he would
C.hels D. he was
22,0100 reading this book. Pl lend it to you.
AL finish B. will finish
C. finished D. had finished
23, Mr. Thanh runs three kilometers every moming _ his age.
AL despite of B. although
C. in spite of D. even though
24, Your house is very dirty. ['m sure you __ _ for at least two
months.
A. don’t clean B. didn’t clean

C. haven't cleaned D. hadn’t cleaned





[image: image49.png]25. Ive hired a typewriter and I ____ to type.
AL will fearn B. would learn
C. am being fearned D. am going to learn
26. Viet’s sister has passed the driving test, __is good news.
A. which B. that C. this
D.it
27. The number of the ___ is rising every day.
A. uncmployers B. unemploycd
C. unemployment D. unemployces
28. By the time John , all his friends
A arrived — have left B. had arrived — left
C. has arrived — had left D. arrived — had left
29. Remember __ _ the lights before you leave the classroom.
A to turn of B. turning off
C. you tumn off D. to turning off
30. The boys are twins. I can’t tell the difference them.
A between . B.from C.to D. of

Exercise VI: Read the following passage and choose the best answer for
each blank.

A HISTORY OF AIR TRAVEL

In 1783, two French brothers built the first balloon to take people
31 the air. One hundred and twenty years (32) . in 1903, the
Wright brothers built the first plane with an engine and (33) in it. This
was in the United States. Then, in 1918, the US Post Office began the first
airmail (34) .

Aeroplanes changed a (35) in the next thirty vears. Then. in the
19305, acroplanes became much (36) because they had jet engines.

In 1976, Concorde was (37) in the UK and France. It was the
fastest passenger plane in the world at that time and it (38) fly at 2500
kilometers an hour, so the journey (39) London to New York is only

four hours.

Today, millions of people travel (40) acroplane. and it is
difficult to think of a world without them.
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32 AL later B. then C.after D. lately

33. Al fly B. flied C. flew D. flown

34 Ao transport B journey C.serviee D. job

35, Al few B. lot C.much D. many

36. AL fast B. faster C. fastest D. more fastly
37. AL made B. done C. built D. created

38, AL must B. should C.ought D. could

39, Al between B from C.of D. since

40, AL with B.on C. by D.in

Excercise VII: Read the passage below and choose one correct answer
for cach question.

Miss Richards was a teacher at a school in England. She taught
chemistry and physics from the lowest to the highest classes in the school.
Sometimes the new classes learnt quickly. but sometimes they were very
slow. and then Miss Richards had to repeat things many times. One year,
the first class had studied chemistry for several weeks when Miss Richards
suddenly asked “What is water?” There was a silence for a few seconds, and
Miss Richards felt sad. but then one of the boys raised his and. He was not
one of the most intefligent students in the class, so she was elad that he
could answer “Water is a liquid which has no colour untjl vou wash your
hands in i,” the boy replicd.

41, What did Miss Richards teach?

AL chemistry B. physics
C. English D. both A and B
42. The word “repeat™ in this passage means .
AL say again B. reuse
C. study more D. explain

43. How did Miss Richards feel when the students couldn’t answer her
question immediately?

AL happy B. unhappy

C. normal D. miserable




[image: image51.png]H. The boy who answered the question was ___ _
AL one ol the most intelligent students in the class
B3, one of the laziest students in the class
C. not one of the best students in the class
D. not the tallest students in the class.
45. Which of the following statements is NOT true about Miss Richards?
A. She taught natural science subjects.
3. She only taught the highest class.
C. Her new class sometimes learnt very slowly.

D. Her question in the passage was in chemistry.

Exercise VIII: For the following pairs of sentences, choose one option
that best completes the second sentence.
46. "I was at home last night,” he said.
He said that .. e e
A. T was at home last night.
B. he has been at home last night.
C. he had been at home the previous night.
D. he was at home the night before.
47. They have just opened a new airport.
AMEW AITPOIT .. et
A. has just opened.
B. has just been opened.
C. have been just opened.
D. was just been opened.
48. Even though he is intelligent, he doesn’t do well at school.
TISPIIC Lo e
AL of his intelligence, he doesn’t do well at school.
B. of being intelligent. but he doesn’t do well at school.
C. the fact that he is intelligent, he doesn’t do well at school.

D. intelligence of his, he doesn’t do well at school.
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AL krill B. mammal  C. plant D. fish
I7. The sea ts polluted. which —__ sea plants and animals.
AL dangers B. dangerous  C. dangerously D. endangers
I8 Tam _  moreifhe _ _ _more time.
A.will read - had B. would read — has
C. read — had D. would read — had
19 Tthinkyvou _ apologize for vour behaviour.
A should B. ought C. shall D. have
20. Sperm whalc populations arc now —riskdue to hunting.
A.in B. at C. of D. by
21. The starfish lives on or depend the bottom.
Al in B. for C.on } D. of
22. Whales. seals are examples of animals.
AL marine B. land C. river D. tiny
23. The life _of sperm whale can be up to seventy vears.
AL period B. length C. distance D. span
24. I'wonder where Mai is. She should here by now.
A.be B. to be C. being D. have been
25 0f Tdidn’t want to go to the party, 1 go.
AL don’t B. didn’t C. won’t D. wouldn’t

Exercise IV: There is a mistake in the four underlined parts of each

sentence. Find the mistake (A, B, C, or D).
26. If you sold your house, you didn’t get-much money for it.

A B C D

27. The government should done more 10 help homeless people.

A B C D
28. What would you do if you have change to travel in_the submarine?

A B C D

29. Do vou think I ought apply for this job?

A B C D





[image: image53.png]3010 modern technology didn’t exist, we will never have these precious pictures.
A B C D

Exercise V: Read the following passage and choose the best answer for
each blank.

The earth has a tremendous amount of water, but (31) all of it
is in the occans. The oceans (32) about 70 percent of all the water on
carth’s surface. They (33) about 97 per cent of all the water on carth,
and are the (34) of most precipitation that falls to carth. Occan water
is (35) salty to be used for drinking, agriculture. or industry. But the
salt is (36) _ behind during evaporation. and the precipitation that falls
to carth s unsalty water.

Only about 3 per cent of the water on earth is (37) i water — and
most of it is not easily available to man. It includes water (38) in
glacters and icecaps, more than 2 per cent of the earth’s water. About half of
1 per cent of the carth’s water is (39) the earth’s surface. Rivers and
lakes contain only about (40) ___ of | per cent of the carth’s water.

I Almost B. almost C. many D. lots

32, Alinclude B. get C. have D. cover

33, Al contain B. content C. gather D. hold up

M. Al source B. resource C. starting D. open

5. Alvery B. so C. too D. enough

36, Al missed B. lost C. forgotten  D. feft

3 Alsalty B. fresh C. sea D. pure

38. A, hidden B. wrapped C. locked D. trapped

39. A, beneath B.in C. over D. behind

40. Al onefifty  B. onefifticth C. firstfifty  D. firstAfiftieth

Exercise VI: Read the passage below and choose one correct answer for
cach question.

People have been hunting whales for at least a thousand vears. and
there were no real problems until the 20th century. What happened was that
(ishing technology became much more efficient and the ships were much
faster. so more and more whales were caught. In the 1960s the main whaling
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began to realize that something had to be done.

It was environmental groups like Greenpeace that really made things
change. They set out to make people aware of the fact that whales were fast
becoming extinct. But even now we don’t know if all this interest has come
too late. Let’s take the great blue whale for example, which at thirty to forty
metres [ong is the biggest animal there has ever been — now there are
perhaps about two thousand or so left. In fact they have been protected for
quite a long time, but there is still no sign that the population is growing.

41. How long have people been hunting whales?
A. for over 2000 years B. since the 20" century
C. for nearly 200 years B. since the 1960s
42. The twentieth century has bought many dangers to whales due to

AL improved methods of technology B. faster ships

C. longer nets D. both A and B
43. What makes people aware of the fact that whales were fast becoming
extinet?

A. Greenpeace B. Environmental groups
C. Main whaling countries D. International agreement

44. Approximately how many blue whales are there on carth now?
AL 2,000 B. 30.000 C. 40,600 D. 60,000
45. Which of the following statements is NOT true about blue whales?
AL They can grow up to forty metres fong.
B. They are the biggest animals on earth.
C. Their population 1s growing fast.

D. They have been protected for quite a long time.

Cxercise VII: Choose one sentence that best rewrites the root one.
46. 1 have to work toniorrow evening, so I can't meet you.
A. If Tdon’t have to work tomorrow evening, 1 can meet you.
B. If I didn’t have to work tomorrow evening, I would meet you.
C. I could meet you tomorrow cvening if T don’t have to work.

D. I can meet you if I didn’t have to work tomorrow cvening.
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A. He should stay up late.
B. He should drink a lot of strong coffee.
C. He should watch TV until midnight.
D. He should set his atarm clock.
BAf L knew her telephone number, I would give her a ring.
A. T know her telephone number, so 1 will give her a ring.
B. I didn’t know her telephone number, so 1 didn’t give her a ring.

C. I don’t give her a ring because [ don’t know her telephone
number. )

D. I gave her a ring because I knew her telephone number.
9. You should clean this room every day.
A. This room should be cleancd every day.
B. This room should been cleaned every day.
C. This room be should cleaned every day.
D. This room should is cleaned every day.
50. People know that some whales move into warm waters to give birth.
A. Some whales are known that move into warm waters to give birth.
B. Some whales are known to move into warm waters to give birth.
C. Some whales are known of moving into warm waters to give birth.

D. Some whates are known to be moved into warm waters to give
birth.
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Exercise I: Choose the word in cach group that has the underlined part
pronounced differently from the rest.

1. A. bulb B. tomh C. black D.cab

2. AL caps B. cooks C. pubs D. cuts

3. AL about B. bomb C. climb D. comb
4. AL sea B. discase C. feature D. threaten
S. AL stopped B. cleaned C. prepared D. played

Exercise I1: Choose a word in cach linc that has different stress pattern.

6. A. cancer B. damage C. defence D. species

AL crosion B. varicty C. especially D. animal
8. AL vegetation B. destruction C. reconstruction D. circulation
9. A.climmate  B.medicine  C. natural D. forester
10. A.environment B. pollution  C. conservation D. appearance

Exercise I11: Choose the best answer to complete each of the following
sentences.

1. John Aspinal is famous for his programme of breading ___
animals.

A. dangerous B. dangered
C. dangerously D. endangered
12. Hydroclectric dams in Vietnam have provided power .
millions of homes and businesses.
A. for B. to C. with D.of
13. Many plants and animals can be used as medicine _cancet,
AIDS and other sicknesses.
AL for B. with C. against D. by
4. The of forest is destroying the earth’s plants and animals.
AL lose B. tost C. loss D. loose
15, Without plants, most water would ______ as soon as it falls.

AL run off B.runafter  C.run away D. run by
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AL are already been climinating B. are already being eliminated
C. has already been eliminated D. have alrcady eliminated
17. We cannot clean upour ____ rivers and scas overnight.
A. pollute B. polluting ~ C. polluted D. poltution
18 Many laws in nature’s defence.
AL are passed B. have passed
C. are passing D. were being passed
19. Water —__most of the carth’s surface.
AL covers B. is covered
C. being covered D. is covering
20. The situation is serious. Something before it’s too late.
A. must do B. must be done
C.must be doing D. must have done

21 We managed o climb over the wal} without .

A seeing B. to see

C. being seen D. to be seen
22.This scientific theory 10 be false.

A, has now proved B. huas now been proving

C. has now been proved D. has now to be proved
23.The carth is being and the future looks bad.

AL threatening B. threat C.threaten D, threatened
M. Many animals arc - fortheir fur or other vatuable parts of their
bodies.

AL Killed B. died C. killing D. dving
25, Wildlife all over the world is in -

AL risk B. danger C. threat D. death

Exercise [V There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).
26. Modern zoos want to sce as places where rare animals can develop.

A B C D
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A B C D
28, Have the students be told about the changes of their timetable yet?
A B C D
29, Campers must be_used earth to put out their campfire completely.
A B C D
30. Man and most animals need a constantly supply of water to live.
A B C D

Excreise V: Read the following passage and choose the hest answer for
cach blank.

Nowadays people are more aware that wildlife all over the world is in
danger. Many (31)___ of animals are threatened, and could casily become
extinet if we do not make an effort to (32)___ them. There are many
reasons for this. In some cases, animals are (33)_ for their fur or for
other valuable parts of their bodies. Some birds, (34)_____as parrots, are
caught (33)_____. and sold as pets. For many animals and birds, the
problem is that their habitw — the (36)__ where they live — 13
disappearing. More land is used for farms, for houses or industry, and there
are fewer open (37)_ than there once were. Farmers use powerful
chemicals to help them grow better (38)_ . but these chemicals pollute
the environment and (39)  wildlife. The most successful animals on
carth — human beings - will soon be the only ones left, unless we can
(40) this problem.

31 A_marks B. more C. species D. forms
32. A harm B. safe C. protect D. serve

33. AL hunted B. chased C. game . extinet
34 AL like B. such C.or D. where
35. Al likely B. alive C. for life D. for fiving
36. AL spot B3. point C. place 1D site

37. AL spaces B. air C.up D. parts

38. AL products B fields C. herbs D. crops

39, Alspoil B. harm C. wound D. wrong
40. A, answer B. caleulate  C.solve D. explain
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cach question.

Many people still believe that natural resources will never be used
up. Actually, the world’s ciergy resources are limited. No body knows
exactly how much fuel is lcft. However, we also should use them
economically and try to find out alternative sources of power. According to
Professor Marvin Bumtham of the New England Institute of Technology. we
have to start conserving coal, oil and gas before it is 100 late; and nuclear
power is the only alternative.

However, many people do not approve of using nuclear power
because it is very dangerous. What would happen if there were a serious
nuclear accident? Radioactivity causes cancer and may badly affect the
future generations.

The most effective thing is that we should use natural resources as
economical as possible.

41 How much fue] is left?

A. no one knows exactly. B. Tt will never be used up.

C. There is a lot of fuel. D. Let’s use it as much as we would like.
42. We should use coal, oil, and gas

A.as much as possible B. carelessly

C. as economically as possible D. all are incorrect
43. According 1o Professor Marvin Burnham,

A. nuclear power is the only alternative B. we have to conserve
coal, oil. and gas

C. A and B are incorrect D. A and B are correct

4. According to the passage, using nuclear power is

AL safe B. cheap
C. interesting D. dangerous

45. Radioactivity from nuclear power _
A. are necessary 1o cure diseases
B. the future generations do nothing with it
C. alters a new kind of energy

D. causes cancer and has bad effect on the future generations
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46, Active: Dangerous driving caises pany accidents.
Pussive: A. Causes many accidents are being driven by dangerous.
B. Accidents are caused by many dangerous driving.
C. Many accidents are caused by dangerous driving.
. Many arc caused accidents by dangerous driving.
47 Active: Someone was cleaning the rooniwhen [ arrived.
Passive: A. The room were being cleaned when Tarrived.
B. The room was been cleaning when T arrived.
C. When @ arrived, the room 1s being cleaned.
D. When [ arrived, the room was being cleanced.
48, Active: Peaple must not leave bicveles in the fiall.
Passive: A. Bicvcles must not be left in the hall.
B3. Bicycles in the hall must not being left.
C. Bicycles in the hall must not left.
D. Bicyeles must been not left in the hall.
49, Active: They haven't stamped the letter.
Passive: A. The letter hasn’t he stamiped.
B. The letter hasn’t been stamped.
C. The fetter wasn’t been stamped.
D. The letter hasn’t got stamped
50. Active: [ don 't like people telling me what 1o do.
Passive: AL People aren’t liked telling me what to do.
B. What people telling me to do isn’t liked by me.
C. Tam not liked teliing what to do by people.

D. I don’t like being told what to do.
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Exercise I: Choose the word in cach group that has the underlined part
pronounced differently from the rest.

1 AL cooked B. stopped C. waltered D. finished
2. AL invader B. destroy C. spend D. solder
3 A. nature B. toxic C. plant D. contain
4, AL seasons B. tourists C. animals D. depends
3. Al missed B. played C.called D. moved

Exercise II: Choose a word in each line that has different stress pattern.

6. A.abandon  B. butterfly  C. wildemness D. national

1 AL fauna B. ethnic C. explore D. orphan

8. A.minority  B. recognize  C. survival D. dependent
9 A. tropical B.establish  C. October  D. dependent

0. Al temperate  B. chemical — C. habit D. lacate

Exercise ITI: Choose the best answer to complete each of the following
sentences.

IL My home village is 40 kilometers north of the capital.
A held B. laid C. located D. surrounded
12. We were very at his success.
A.surprised B interested  C. keen D. fond
13.1f Lien . araincoat, she wouldn’t have got a cold.
AL wears B. worc C. has worn D. had worn
4. There s a large __ of animals that live in Nairobi National Park.
Al vary B. various C. varied D. variety
15. One species is dependent another for survival.
A.to B. on C.of D.at
16.We __  tothe beach vesterday il the sun had been shining.

Ao will go B. would go  C. would have gone  D. had gone
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A.contains  B. hold C. gets D. covers
I8 111 that Huong had to get up carly. I her up.
AL knew — would wake B. had known - would have woken

C. would have known - had woken  D. knew - woke

19. We can go the National Park to learn about the different of
animals and plants.

AL means B. sorts C. tyres D. species
20. Lots of abandoned animals __of in the Orphanage.

A. take care B. are taking care

C. are taken care D. care taken
21 It he up carlier, he to work on time.

A. got — would get B. had got — would get

C. would get — got D. would have got — had got

22. Everglades National Park in the USA has plants and animals from
tropical and temperate zones.

AL between  B. both C. among D. either
23. There are toxic level of in the water of this lake.

A.chemists  B.chemistry C.chemicals D. chemics

24. The has threatened many of the animals in this park.
A_population B. remain C.increase  D. contamination
25. They the farm if they enough money.

AL had enlarged — would have had ~ B. would enlarge — had had

C. enlarged -- would have D. would have enfarged — had had

Exercise I'V: There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).

26. I had gone to see you if I'd known that you were ill.

A B C D
2710 Mr. Black weren’t late every day, he wouldn’t have lost his job.
A B C D

28. We wouldn’t have enjoved that party because it was very long.

A B C D
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A B C D
30101 were you, T would have forgotten about buving a new car.
A B C D

Exercise V: Read the following passage and choose the best answer for
cach blank.

THE OSTRICH

The ostrich is the (31)___ bird in the world, and an adult can be
more {32) ninety kilos. Most wild ostriches live (33) southern
Africa, but there are only a (34) of them left. Like all birds. ostriches
have wings, (35) they cannot fly. They use their wings to help them
(36) when they are running. Ostriches can run very fast, from sixty—
five to ninety kilometers (37)____hour. so it is very difficult for
(38)___ animals to catch them.

Baby ostriches are the same (39) as chickens and take about
three years 1o become adult. Ostriches eat (40) and can five for many
days without water.

3. Al farge B. larger C. largest D. most largest
32, A.than B.of C. like D. as

33. A.on B.in C. at D. above

M. Al few B. little C. lot D. many

33 Aor B.and C. but D. except

36, Al direct B. change C. alter D. turn

3. Ala B.an C. one D. the

38 Alanother B. other C. others D. onc other
39, Al big B. small C. colour D. size

40. Al trees B. animals C. plants D. fish

Exercise VI: Read the passage below and choose one correct answer for
each question.

Parks in our country arc wonderful playgrounds and millions of
people visit them cvery year. There are places where you can camp without
charge or you can rent a room in a hotel. You can take long walks in the
forests, take boat trips, or climb mountains. You are not allowed to hunt in
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most of the parks. The park keepers sometimes go with the visitors on walks
to tell them about the animals. plants, and mountains. They also have
programmes and talks at the campgrounds and in the hotels so that people
many learn all about the park and the things that are in it.

4o Wecancamp in the parks __
AL without haviag to pay anything
B. with a small fee

C.if we rent a room in a hotel

Do if we visit them every vear

42, Which of the following activities is not mentioned in the passage?
AL go for a walk B. go climbing
C. go skiing D. go by boat

43. The word “streams™ in hine 4 is closest in meaning to

AL small rivers B. ponds

C. fakes D. big scas
A The world “them™ in line 3 refers to o

AL parks 13. visitors

C. park keepers D. animals

Ja
"

5. Which of the following statements is NOT true?

A. There are many animals in the parks.

B. We can walk and have talks with the park keepers.
C. Weare allowed o [ish in most of the parks.

D. We can hunt in the parks.

Exercise VII: Choose one sentence that best rewrites the root one.
46, He didn 't work hurd, so he Juiled the exam.
AL he worked hard, he wouldnt fail the exam.
B. 1 he hadn't worked hard, he would have failed the exam.
C. He would have passed the exam if he had worked hard.

D. He had passed the exam if he would have worked hard.
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061 fiad had your address, T would have sent you a present.

A.Tdon’t have your address. so I won’t send you a present.

B. I didn’t send you a present because I didn’t have your address.
C. [ hadn’t had your address: that’s why I wouldn’t have sent you a
present.

D. I don™t send vou a present because [ wouldn’t have your address.

8. Iwas tired because I stayed up late last night.

A. It ] hadn’t stayed up late last night, I wouldn’t have been tired.
B. I hadn’t been tired if I wouldn’t have stayed up late last night.
C. I T had stayed up late last night, T would have been tired.

D. I wouldn’t be tired if I didn’t stay up late last night.

8. Yo wouddn 't have made many mistakes if you had been careful.

A. You didn’t make many mistakes because you weren’t careful.
B. You made many mistakes because you were carcful.
C. You were careful, so you didn’t make many mistakes.

D. You weren’t careful, so you made many mistakes.

0. You didn 't do as Trold you; that s why you didn’'t succeed.

AT you hadn’t done as 1 told you, you wouldn’t have succeeded.
B. If you had done as 1 told you, you would have succeeded.
C. You would have succeeded if you hadn’t done as [ told you.

D. You wouldn’t have succeeded if you had done as I told you.
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each blank.

NOT FOR JAZZ

We have anold (31)__ mstrument. Tt is called a clavichord. It was
made (32)___ _ Germany in 1681. Our clavichord is (33) in the
living--room. It (34) to our family for a long time. The instrument was
bought by my grandfather (35) __ vears ago. Recently it was (36)
by a visitor. She tried (37)____ jazz on it! She struck the keys (38)
and two of the strings (39) . My father was shocked. Now we are not
(+H0)______totouch it. It is being repaired by a fricnd of my father’s.

RIN AL music B. music’s C. musical D. musician
32. Alin B.at C.of D.on

33. AL placed B. set C. kept D. held

34 A belongs B. belonged  C. 1s belonging D. has belonged
35. A. much B. many C. number D. lots

36. A.damaged B destroyed  C. ruined D. wronged
37 A.play i3, played C. to play D. to playing
38. AL hardly B.toohard  C. so hardly D. enough hard
39. A. broken B. breaking  C. were breaking D. were broken
40. AL made B. permit C. allowed D. let

Exercise V1: Read the passage below and choose one correct answer for
cach question.

FOLK MUSIC

Pop music has always been influenced by other forms of music. An
important form is folk music.

Folk songs are the songs composed and sung by country people. The
songs may be hundreds of years old, so nobody knows who originally
composed them. Modern music is often music for dancing. In Britain it was
traditionally played with instruments like flute, accordion, etc.

In the 1950s and 1960s the people who wrote songs and played them
with acoustic guitars were also called folk singers. The songs were often
“protest songs”, complaining of bad things happening in society.
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AL classical music B. folk music

C. jazz D. rock ‘n’ roll
42. Who were tolks songs composed by?

A. countryside pcople B. city people

C. modern musicians D. old singers

43, According to the passage, what is modern music often used for?

AL singing only B. playing with guitars
C. dancing D. forming pop music

44 In the 1950s. what did people play folk songs with?

A. planos B. flutes
C. drums D. guitars

45. Why are folk songs called “protect songs™?
A. Because they are sung by country people?
B. Because they are hundreds of years old.
C. Because nobody knows who originally composed them.

D. Because they complain about bad things happening in society.

Exercise VII: Choose one correct sentence which is built from the
words provided.
4. apologize | coming ! he I me ! for [ late | telephoned [ to /1.
A. He telephoned me for apologize to coming late.
BB. He telephoned me to apologize for coming ltate.
C. He apologize me for coming late to telephoned.
D. He coming to apologize me for telephoned late.
Aowill F do Lir ! this I what [ you [ if ] rains [ afternoon /17
A. I it rains this afternoon what vou will do?
B. What will it do if you rains this afternoon?
C. What will you do if it rains this afternoon?
D. If you do this afternoon what will it rains?
48.job [ 10 ] going [ the [ tol @l are | capital [ you ! find 17?7

A. Are you going to the capital to find a job?
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C. Are you a job to find going to the capital?
D. Are you to the capital going to find a job?
9. wihy /do | Tam [Histening | jazz | you | enjoys 1 10 1 know 11?7
A. You know why do Tam enjoys listening to jazz?
B. Why do Tam know you enjoys listening to jazz?
C. Do you know why Tam enjoys listening to jazz?
D. Why Tam know do you enjoys listening o jazz?
0. often | go ! concert I how [ your [ to ! do | the | family 11?
A. How do your family go to the concert often?
B. How your family often do go to the concert?
C. How go to the concert often your family do?

D. How often do your family go to the concert?
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Exercise It Choose the word in cach group that has the underlined part
pronounced differently from the rest.

L. A. enough B. cough C. though D. rough
2, A. knife B. deaf C. wife D. of

3 A. phone B. orphan C. Stephen D. photo
4 AL off B.if C. safe D. leaf
5. AL prove B. love C. above D. dove

fixercise H: Choose a word in each line that has different stress pattern.

6. A. character  B. disaster C. terrify D. irritate

7. A.audience  B.movement C. fiction D. cartoon

8. AL cinema B. detective  C. embarrass D. description
9. A decade B. photograph C. violent D. amuse

0. A.suppose B.adventure  C. fascinale D. engaged

Exercise ITI: Choose the word with the same meaning as the underlined
part.
. Thaven’t been to the cinema for a decade.
A five years B. seven years
C. ten years D. twenty vears
12. The number of people who went to see that film increased rapidiy.
‘ AL quickly B. gradually
C. suddenty D. uncontrollably
1310 the carly 19105, audience could enjoy the first long films.
AL ought to B. were able to
C.used to D. were possible
. The film Tiranic is about the sinking of a luxury liner.
A. boat B. submarine

C. ferry D. ship
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Al fond B. frightened
C. proud D. jealous

Exercisc [V: Choose the best answer to complete each of the following
sentences.
16. The movie on TV last night made me

A. bore B. boring C. bored
D. boredom

17. T was very disappointed his behaviour.
A.of B. with C.in D. at
I8 iwilltakeus  hourand ____ half to walch this film.
AL an—an B.an—a C.a—an D.a-a
19. It was not until 1915 the cinema really became an industry.
A. when B. which C. that D. while
20.Wearereally ___ about going to the cinema tonight.
A excited B. interested €. amused D. pleased
21. The cinema changed completely at end of 1920s.
Alan—the B.the-@ C.J—the D. the —the
22.1 __ thrillers to action films.
A like B. prefer C. would rather D. enjoy
23. 1 find hotror films really _
AL disgust B. disgusts  C. disgusting D. disgusted
24, Thereis __ university in our town.
Ala B.an C. the D. &
25. My son didn’t go to the theatre he was 16 years old.
AL until B. soon C. after D. once

Excrcise IV: There is a mistake in the four underlined parts of each
sentence. Find the mistakes (A, B, C, or D).
26. Tt was not until the teacher came that the students didn’t stop talking.
A B C b
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A B & D
28. It was surprised to see my old friends again after a long time.
A B C D
29. There is no doubt that he is a honest person.
A B C D
30. Don’t you get tired with playing games gvery night?
A B C D

Exercise V: Read the following passage and choose the best answer for
each blank.

The world’s first film was shown in 1895 by two [French brothers.

Louis and Auguste Lumicre. Although it only (31) _of short. simple
scenes, people loved it and films have (32) popular ever since. The
first films were silent, with titles on the screen to (33)_____ the story.

Soon the public had (34) favorite actors and actresses and, in this
(3 . the first film stars appeared. In 1927, the first “talkie™, a film
with sound, was shown and from then on. the public (36)______ only accept

this kind of film.

Further improvements continued, particularly in America, (37)_
produced 95% of all films. With the amrival of television in the 1950s.

(38)____ people went to see films, but in (39)___ yeuars cinema
audiences have grown again. More countries bave started to produce films
that influence film—making and there are currently (40)_____ national film
industrics.

3. A.consisted  B.contained C. belonged D. held

2. A.gone B. been C. made D. kept

33 Aljoin B. read C. explain D. perform
Mo Alyour B. his C. our D. their

35, A.rcason B. way C. method D. result

3. A should B. would C. might D. will

37 A.who B. where C. when D. which

8. A other B. cach C. fewer D. any

39 Al recent B. now C. modern D. present

0. A.many B. lots C. much D. plenty

Q1
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cach question.

My first visit to the cinema was a very unhappy one. I was taken there
by some [riends when T was only seven years old. At first there were bright
lights and music and 1 felt quite happy. When the lights went out, [ felt
afraid. Then [ saw a train on the screen . The train was coming towards me. |
shouted out in fear and got down under my scat. When my friends saw me,
they started to laugh. 1 felt ashamed and sat back in my seat. T was very glad
when the film ended.

41, Who took the writer to the cinema for the first time?

AL His father B. His parents
C. His parents’ friends D. His friends
42. How did he feel at first?
AL excited B. unhappy
C. sad D. quite unhappy
43, He was frightened when
A. there was music B. the cinemas had no light.
C. the train ran D. his friends saw himn

44. Where did he hide when he saw the train coming towards him?
A, under the scat B. on the screen
C. on his {riend’s” back D. under the train scat

45, How did he feel when the film finished?
AL very sad B. very unhappy

C. quite happy D. quite right

Exercise VII: Choose one option that best completes each of the
following sentences.
46. It was not unti} .

A. did I phone Tan that I knew the result of the cxam

B. that T phoned Tan did I know the result of the exam

C. I phoned Tan did 1 know the result of the exam

D. I phoned Tan that T knew the result of the exam
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A. [rightened when she heard the terrifying news.
B. frightened when hearing the terrified news.
C. frightening when heard the terrifying news.
D. frightening when she heard the terrificd news.
48. My brother often finds o
A. his job amused
B. amusing at his job
C. his job amusing
D. an amusement at his job
49. 1999 that he began to learn English.
A. Not unti]
B. It was not until
C. It’s untif
D. Not until later
50. T prefer watching detective films
A. to reading detective stories
B. detective stories
C. more than detective stories

D. than read detective stories




[image: image74.png]Unit 14: THE WORLD CUP

Exercise 1: Choose the word in each group that has the underlined part
pronounced differently from the rest.

1. AL region B. goal C. game D. together
2. AL score B.cup C. captain D. certain
3. A. kick B. ticket C. knee D. week

4. A. champion  B. school C. character D. chemist
3. Al origin B. again C. giant D. apology

Exercise II: Choose a word in each line that has different stress pattern.

6. A. ambassador B. committee C. defeat D. victory
A. compete B. event C. football D. postpone
8. AL lournament B.consider  C.professional D. equipment
9. A. passionate B. volunteer  C.necessary  D. governing
10. A. organize B. finalist C.eliminate  D. runner-up

Exercise IIT: Choose the best answer to complete each of the following
sentences.

11 The international football is held cvery four years.
A match B. contest C. tournament D. game
12. FIFA was in 1904 in England.
A.sctup B. set off C. putup D. put off
13. “Van is in hospital.” = “Yes, ITknow. I her tomorrow.”
A, am going to visit B. will visit
C. goto visit D. wil] visiting
4. That bag looks heavy. [ you with it.
A. help B. will help
C. am going to help D. am helping
15, Germany was the nation of the 2006 World Cup final.
A held B. hold C. host D. house

16. Uruguay Argentina in the final match of the {irst World Cup.
A wined B. passed C. managed D. defeated
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Al gets B. is getting
C. is going to get D. will get
18. I'm turning this cupbeard into a darkroom. 1 my own films.
AL develop B. is developing
C. is going to develop D. will develop
19. France won Brazil ______ 3 0 in the final match of the 1998
World Cup.
A.by—to B.to- by
C. by - by D.to—to
20. Brazil became the first team to the trophy five times.
A.succeed  B. win C. beat D. bite
21. World Cup is considered the most sporting event in the
world.
A. interest B. liking C. popular D. favourite
2. Pelé participated ____ three World Cup.
AL at B.in C. for D. with
23. The 13™ World Cup was _ in Mexico in 1986.
A. put B. placed C. held D. set
24. Mai and T have decided to have a party. We ___ lots of people.
AL will invite B. are inviting
C. have invited D. are going to invite
25.“I'm catching the 7.00 train.”
~*Soam [. I you a lift to the station.™
A.am giving B. going to give
C. shall give D. will give

Exercise IV: There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).

2.1 have invited Tom to the party but I don’t think he is comine.
A B C D

27. There are a lot of black clouds in the skv. It will rain.

B C D

>
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A B C D
29. Pelé was famous with liis powerful kicking and controlling the ball.
A B C D
30. In the 17" World Cup, the final match was among Brazil and Germany.
A B C D

Exercise V: Read the following passage and choose the best answer for
each blank.

Organized football games began in 1863. In football, two (31)
of eleven players try to kick or head the ball (32) the goal of the other
team. The goal keeper, (33) trics to keep the ball out of the goal, is the
only player on the ficld who can touch the ball with his or her (34 .
The other players must use their feet, heads, and bodies to (35) the
ball.

Every four years, football teams around the world (36) for the
World Cup. The World Cup competition started in 1930. Brazil is the
(37)_____ of many great football players. (38) the most famous player
of all. Pelé. With his fast dazzling (39) . Pelé played for many years in
Brazil and then in New York. People in more than 140 countries 40
the world play football. It is definitely the world’s most popular sport.

3. Alcrews B. paits C. groups D. teams

32. A into B. over C. out of D. at

33, A. which B. that C. who D. whom

34 AL hands B. legs C. head D. feet

35. A drive B. control C. steer D. hit

36. A. fight B. battle C. compete D. play

37. A. home B. club C. host D. organization
38, A.such B. like C. gathering D. including
39. A. pace B. speed C. rate D. level

40. A.on B. through C. all over D. whole
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each question.

Dave Manning played in his first big football match yesterday. He
was o new player and did not know anyone in his team. During the first forty
minutes he scored a goal and then he helped his teammates to score another
goal. After the second goal, however, he found there was a terrible mistake.
He was on the wrong side. “My fricnds don’t befieve me,” said Dave. “In
fact, I can hardly believe it now myself.” The mix—up began as soon as
Dave arrived at the Kone footbail ground before the start of the match
against Wopa.

“Wherc are the changing rooms?” Dave politely asked someone at the
entrance.

The man did not say anything but at once showed him to the Wopa
room.

Everyone was surprised to sec Dave but they thought he was a new
member of their team!

In the second half of the match Dave played for Kone and the result
was a 2-2 draw.

41. Why didn’¢ Dave know anyone in his team?
A. Because he was a new member.
B. Because he just met them yesterday.
C. Because he didn’t like them.
D. Because he bad never played in a big football match.
42, What was the mistake?
A. He wore the wrong clothes
B. He played for the opposite team.
C. He missed a penalty.
D. He didn’t play well.
43, What does the world “hardly” mean?

AL surely B. mainly
C. scarcely D. recently
44, How were people when they saw Dave in Wopa room?
A. happy B. amused
C. angry D. astonished

a7
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A. He scored two goals in the first half.
B. He helped another player to score a goal.
C. His fricads didn’t believe what he said.
D. The final result was 4 2-2 draw.
Exercise VII: Choose one correct sentence which is best written from
the words provided.
0. don'tLihe L will [ very | T think | exam ! be | difficult /).

A. T will think the exam don’t be very difficult.

B. I'don’t think the exam will be very difficult.
C. I'think the exam will don’t be very difficult.
D. I don’t very think the exam will be difficult.
A7 here L build [ is | Council / the | going | school | to City/lall.
A. The school Council going to build is a City here.
B. The City school build is going to a Council here.
C. The City Council is going to build a school here.
D. The school is going to build a City Council here.
Iowait £ you I will fan  here | get | for | and | aspirin 1 11/,
AT will get an aspirin for you and wait here.
B. An aspirin will wait for you and I get here.
C. Wait here and T will get an aspirin for vou.
D. You will get an aspirin and 1 wait for here.
49. vou L visit | grandparents | weekend | are [ to  your | next / going 11?
A. Are you going to visit your grandparents next weekend?
B. Arc you to visit your grandparents going next weckend?
C. Are your grandparents going next weekend to visit you?
D. Are vour grandparents visit you next weckend to going?
SO meet ! you ! the ! half I we | outside | stadium [ an | will ] in 1 howr /i,
A. We will meet in half an hour you outside the stadium.
B. We will meet outside the stadium you in half an hour.
C. We in an hour half outside the stadium wiil meet you.

D. We will meet you outside the stadium in half an hour.
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

1. A. thought B. than C. theatre D. third
2. A. although  B.southern  C. northwest D. clothes
3. A. mouth B. width C. fourth D. smooth
4. A. breathe B. breath C. neither D. these
5. A. feather B. twentieth  C. birthday D. thick

Excrcise IT: Choose a word in each line that has different stress pattern.

6. A.reserved Bl unusual C. attract D. region

1. A. character  B. metropolitan C. population D. popularity

8. A. gallery B. apartment C. district D. capital

9. A.museum  B. convenient C. parliament D. southeastern
10. A historic B. neighbourhood C. cathedral ~ D. material

Exercise III: Choose the best answer to complete each of the following
sentences.

11. We are going to visit Hanoli, is the capital city of Vietnam.
A. which B. that C. where D.&
12. John has three sisters, one of is working in New York.
A. which B. that C. who D. whom
13._ living in the country, Mr. Lam is working in the city.
A. Although B. Despite
C. In spite D. Even
14. 1 couldn’t sleep very tired.
A. although I was B. despite  was
C. despite of being D. in spite of
15. The population of London as big of New York.
A. than that B. as that

C. as thosc D. than those
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A. found B. finding C. founded D. finded
17. We know a lot of people live in London.

A which B. that C. whom D. whose

I8. T'live in a city . population is over one million.

A. which’s B. that’s C. who’s D. whose
19. There are _ tall offices and apartment buildings in New York.
A hundred B. hundreds
C. hundred of D. hundreds of
20. My village is located the western part of the city.
A. at B.in C. of D.on
21. London has high buildings than New York.
Al less B. fewer C. much D. little

22. Last month we spent our holiday in Tokyo, there are many
temples.

A. which B. that C. where D.@
23. Tenjoy living in this city the fact that everything is expensive.

A. although B. even

C. in spite of D. despite of
24. London an arca of 1610 squarc kilometers.

A. have B. gets C. covers D. fills
25. Although it rained a lot,

A. yet we enjoyed our holiday

B. but we enjoyed our holiday

C. however we enjoyed our holiday

D. we enjoyed our holiday

Exercise JV: There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).

26. Ho Chi Minh City. that used to be called Sai Gon, is the biggest city in
A B C
southern Vietnam.
D
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A B C D

28. My uncle js working in Nha Trang, where has one of the most beautiful
beaches in Vietnam.

A B C D
29. Although the fact that the story was silly, they all enjoyed it.
A B C D
30. I recently went back to the city that I was born in there.
A B C D

Exercise V: Read the following passage and choose the best answer for
each blank.

BUDAPEST

Budapest has a population of over two million people. One in
(30 five Hungarians lives there. The River Danube divides the city
32 two parts. On the west bank there are the woods and hills of Buda
and the old town. On the east bank there 1s the (33) and more modern
Pest, the business and shopping center. From Buda there are wonderful
(34) of Pest and the river. Six bridges join Buda and Pest.

Budapest is very unusual (35) it has two completely different
parts. You can choose the peace and quiet of Buda’s woods or the
excitement of Pest, (36) there are good theatres, restaurants, bars, and
shops.

The public transport (37) in Budapest is onc of the best and
cheapest in the world. You can travel easily (38)___ underground, bus,
tram, and taxi, but driving a car in Budapest is not a good idea. There are not
many car parks. (39) cars are old, so pollution is very bad.

The healthiest thing to do in the city is to visit one of the thirty spa
40y and swimming pools. The mineral waters of Budapest are
famous. and a very popular way to relax.

3. Alone B. each C. every D.a

32, Alinto B. between  C. among D. of

33, A.bigger B. biggest C. more bigger D. most bigger
4. Alsights B. views C. looks D. scenes

35, Albut B. and C.so D. because
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37. A. system B. office C. level D. standard
38. Alin B. on C.of D. by

39. A. Much B. Lots C. Most D. Almost of
40. A. bath B. bathe C. baths D. bathes

Exercise VI: Read the passage below and choose one correct answer for
each question.
NEW ORLEANS

New Orleans is the largest city in Louisiana, USA. It stands on the
banks of the Mississippi River and is a busy port and tourist center. Its
population of about 550,000 is very cosmopolitan, with immigrants from
many countries. Every year people from all over the world visit New Orleans
to see its famous Mardi Gras carnival.

Its history

In 1682 the French named Louisiana after the French King, Louis
XIV. They built New Orleans in 1718. In 1762, Louis XV gave it to his
cousin Carlos of Spain. Then, in 1800, it became French again until
Napoleon sold it to the USA in 1803. The French Quarter in New Orleans
still has many old buildings and excellent restaurants.

Its music

New Orleans is the home of jazz. Jazz is a mixture of blues, dance
songs, and hymns. Black musicians started to play jazz in the late 19%
century. Louis Armstrong and Jelly Roll Morton came from the city. New
Orleans is most famous for its jazz, but it also has a philharmonic orchestra.

41. The word “banks™ in line 1 means
A. places to put money in
B. places to lend money
C. sides of a river
D. big streams
12. Visitor go to New Orleans to see
AL port B. tourist center
C. carnival D. river
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A. Lous XIV B. Louis XV
C. Carlos D. Napoleon
44. We find French remains in New Orleans in
A. food B. music
C. dance D. clothes
45. is originated in New Orleans.
A. Blue B. Dance song
C. Hymn D. Jazz

Exercise VII: Choose one sentence that best rewrites the root one.
46. In spite of not speaking French, Mike decided to settle in Paris.

A. Even though Mike didn’t speak French, but he decided to settle in
Paris.

B. Mike decided to settle in Paris despite he didn’t spcak French.
C. Mike decided to settle in Paris though the fact that not speaking French.
D. Although Mike didn’t speak French, he decided to settle in Paris.
47. My brother Nam is a doctor. He lives in Hai Phong.
A. My brother Nam is a doctor, who lives in Hai Phong.
B. My brother Nam who is a doctor lives in Hai Phong.
C. My brother Nam, who lives in Hai Phong, is a doctor.
D. My brother Nam lives in Hai Phong, who is a doctor.
A8. Mr. Bu was lute for the meeting though he took a taxi,
A. Even though taking a taxi, Mr. Ba was late for the meeting.
B. In spite of taking a taxi. but Mr. Ba was late for the meeting.
C. Mr. Ba was late for the mecting despite the fact that he took a taxi.
D. Mr, Ba was late for the meeting although having taken a taxi.
49. Ho Chi Minh City is larger than Hanoi.
A. Hanoi isn’t so large as Ho Chi Minh City.
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C. Hamoli is smaller as Ho Chi Minh City.
D. Hanoi is more smaller than Ho Chi Minh City.
- We staved at the Asia Hotel. Dr. Thanh recommended it to us.
A. We stayed at the Asia Hotel, where Dr. Thanh recommended to us.
B. We stayed at the Asia Hotel, which Dr. Thanh recommended to us.
C. We stayed at the Asia Hotel that Dr. Thanh recommended it to us.
D. We stayed at the Asia Hotel to which Dr. Thanh recommended us.
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Exercise I: Choose the word in cach group that has the underlined part
pronounced differently from the rest.

l. Al pleasure  B.measure  C. leisure D. ensurc

2. AL special B. ocean C. Confucian D. century

3. A. university  B. sugar C. sell D. sometimes
4 A.machine  B.merchant  C. Chinese D. chamber
5. A. visitor B. decision  C. musical D. preserve

Exercise I1: Choose a word in cach line that has different stress pattern.

6. A catcgorize B. heritage  C. cultural D. bombardment
7. Al legend B. flourish C. engrave D. scholar
8. A. mausoleum B. memorialize
C. Confucius D. achievement
9. AL cxistence B. architecture
C. imperial D. construction
0. A. Vietnamese B. destination
C. presidential D. originally

Exercise II: Choose the best answer to complete each of the following
sentences.

s to go by bus than by car.
A.cheaper  B.cheapest  C. more cheap D. more cheaper
12. Let me know if vou hear any news?
A farer B. farther C. further D. father
13. The new television tower is twice _the old one.
A higher than B. as high as  C. highest D. higher as
14. This building is a historical in our town.
A. relic B. period C. context D. view
15.Quoc TuGiam was _______ on the grounds of Van Mieu in 1076.

A. formed B. established C. pushed D. developed
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A. hold B. appeal C. like D. attract
17. The museum is of the two buildings.
A. taller B. the taller  C. tallest D. the tallest
18. That house is one on the street.
AL oldest B. the oldest  C. eldest D. the cldest
[9. Minh ran his brother, Thanh.
A. slowlicer B. as slow as
C. more slowly than D. so slowly as
20. This architecture is a of our city.
A. want B. thank C. pride D. proud
21. The of President Ho Chi Minh’s Mausoleum took place
from 1973 to 1975.
A. constructment B. construcion
C. constructal D. construction
22. Hoi An an important trading centre in Southeast Asia.
AL used to be B. used to being
C. was used to be D. use to be
23. This is hotel we have ever stayed at.
A. the most modern B. modernest
C. the more modern D. most modemest
24, About 100 thousand Australian visitors in Viet Nam in
2003.
A. went B. arrived C. reached D. came
25. The buildings in your city are than mine.
A. wider B. deeper C. taller D. longer

Exercise [V: There is a mistake in the four underlined parts of cach
sentence. Find the mistakes (A, B, C, or D).

26. Our hotel is the cheapest than all the others in the town.
A B C D
27. This is one of the baddest film I’ve ever seen.
A B C D
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A B C D
29. Pace of living in the city is more fastly than that in the countryside.
A B C D
30. Are those the best beautiful pictures you’ve got?
A B C D

Exercise V: Read the following passage and choose the best answer for
each blank.

THE ONE PILLAR PAGODA

The One Pillar Pagoda, which was built in 1049 in Ly Thai Tong
dynasty, is (31) the capital. The pagoda has rectangular shape, 3
metres a side with bent roof of traditional (32) of Victnamese temple.
The whole structure stands on a sole stoned pillar, so it (33) one piliar
pagoda.

(34) to a legend, King Ly Thai To was old, but he had no
children. One night he (35) in his dream the Goddess Quan Am
(36) on a lotus and handling him a boy. An actual fact, not long later,
the Queen (37) birth to a boy. The King was (38) happy that he
decided to build a pagoda of lotus shape over water. Inside the pagoda,
(39) was a statuc of Goddess Quan Am, the surrounding landscape
was beautiful (40) fish pond, fresh ornament plants, and lovely sights.
3. Alin B.at C.on D.of
32, A. architecture B. customn C. character  D. engineering
33, Al called B. calling C. was called D. to call
34 A Following B. According C. Due D. In addition
35, Alsaw B. looked C. observed  D. stared
36. Al sits B. sat C. sitting D. tosit
37, Altook B. got C. had D. gave
8. Al very B.so C. such D. too
39. A there B. that C.it D. this
40. A for B. with C. like D. between
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THIEN MU PAGODA

Thien Mu Pagoda was built on Ha Khe Hill, on the left bank of the
Perfume River. According to the legend. Lord Nguyen Hoang, the founder
of the Nguyen dynasty. after being appointed to protect the southern land of
the Gianh River. met an old lady in red who showed him a place to set up his
headquarters in Kim Long village. They were built there and a pagoda was
also constructed on the hill where the lady had appeared, and was called
Linh Mu (Propitious Lady) or Thien Mu (Heavenly Lady) pagoda.

The pagoda covers an area about 4 hectares. There are some note
worthy works and objects of value such as the seven—tier Phuoc Duyen
tower, which is 21.24 metres high. The bell in the tower, called Dai Hong
Chung. was cast in the 18" century and was decorated with beautiful
patterns. This is a beautiful and romantic pagoda which attracts deeply to all
Huc's inhabitants.

41. Wherc is Thien Mu Pagoda situated?
AL left bank of the Perfume River
B. right bank of the Perfume River
C. under a hill
D. on the top of a mountain
42, Who was Lord Nguyen Hoang?
A. The founder of the Nguyen dynasty
B. One of the Kings
C. The builder of the pagoda
D. The guardian of Ha Khe Hill
43. What colour were the old laday’s clothes?
AL blue B. green
C. brown D. red
44. Why was Thien Mu Pagoda built there?.
A. Becausc the old lady had appeared there
B. Because the old lady ordered Nguyen Hoang to do it.
C. Because it was near Kim Long village

D. Because Nguyen Hoang didn’t want to set up his headquarters there.





[image: image89.png]#5. When was the bell in the pagoda cast?
A. inthe 16" century
B. inthe 17" century
C. inthe 18" century

D. in the 19" century

rcise VII: Choose one sentence that has the different meaning to
he root one.

6. Today is hotter than yesterday.
A. Today isn’t as cool as yesterday.
B. Yesterday was hotter than today.
C. Today is as cold as yesterday.
D. Yesterday wasn’t as hot as today.
1. No houses in the street are as high as this one.
A.This is one of the highest houses in the street.
B. This house is higher than any other one in the strect.
C. No houses in the street are higher than this one.
D. This house is the highest in the street.
8. Is this the smallest hat you have?
A. Arc the other hats bigger than this one?
B. Do you have a hat that is as srmall as this one?
C. Do you have any hat that is smaller than this one?
D. Do you have a smaller hat than this?
). This is the most boring film I ve ever seen.
A. T've never seen a more boring film than this.
B. I've ever seen many more boring films than this.
C. All the films that I've ever seen are more interesting than this.
D. This film is more boring than any one I've ever secn.
). Tam iy better at English than Phuong.
A. Phuong is worse at English than Tam.
B. Phuong isn’t as good at English as Tam.
C. Tam isn’t as bad at English as Phuong.
D. Tam isn’t as good at English as Phuong.
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

i AL sure B. seal C. software D. sorrow
2. A.although  B.anything  C. thirtieth D. anthem

3 A. how B. town C. bowl D. crown

4. A school B. champion  C. scholar D. character
5 A. clear B. ncar C. dear D. wear

Exercise II: Choose a word in each line that has different stress pattern.

6. AL legend B. reserve C. audience D. solemn
A.composer  B.abandon  C. imprison D. carnivore
8. A. submarine B. atmosphere C. stimulate D. marital
9. A.announce  B.semester  C. gestation D. damage
10. A. funeral B. organism  C. defence D. ethnic

Exercise I1I: Choose the word with the same meaning as the underlined
part.
I'1. This pagoda was originally built in the 11" century in the Ly dynasty.

A. powerfully B. finally C.initially-  D. gradually
12. Tdido’t know why my alarm clock didn’t go off this morning.

A ring B. gowrong C. explode D. sing
13, Mr. Ha’s village is situated on the south bank of the Tien River.

A expected B. located C. pointed D. reminded
4. The record was broken by an Asian athlete.

AL crashed B. defeated  C. won D. beaten
5. Nowadays, more and more plants and animals are at_risk.

A. in danger B. at loss

C. undcr pressure D. on fire
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sentences.

16. He can’t gethome ifhe ___ nomoney.
AL has B. will have  C. had D. would have
17. Would you like to have a of badminton this afternoon?
A. match B. play C. game D. paity
18. It is too early in the __ to expect many visitors 1o this place of
mterest.
A.semester  B. scason C. time D. calendar
19. Because it __ for several months, there was a shortage of water.
A. doesn’t rain B. hasn’t rained
C. hadn’t rained D. wouldn’t rain
20. _ the rise in the unemployment, people still seem to be
spending more.
A. Even B. In spite
C. Despite - D. Although
21. They will never manage home by eight — the roads are
quite busy today.
A. to get B. getting C. to getting D. be getting
22. The children _______leave now — it’s getting dark.
A. would B. better C. ought D. should
23, Our football tcam lost threc goals to one.
A. with B. by C.to D.in
24, She helped me with my English, was very kind of her.
A. which B. that C. when D. where

25. My uncle is an expert in wildlife and its

A.conserve  Bopreserve  C.reservation D. conservation

Exercise V: There is a mistake in the four underlined parts of cach
sentence. Find the mistake (A, B, C, or }).
26. The weatherman said that itis going to rain that night.
A B C D
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A B C D
28. It is not until he was 40 that he took the degree in economics.

A B C D

29.1f it didn 't rain yesterday. we would have gone camping.

A B C D
30. A new hospital was building in the suburb of the capital last month.

A B C D

Exercise VI: Read the following passage and choose the best answer for
each blank.

ART FACTORIES

Several years ago an old factory on the cdge of Paris was turned into
an exhibition center. This helped many artists (31) had found it too
expensive to work in the center of Paris, and so for the (32) few years
painters, musicians, actors and other people (33) had space to work
and perform. The people behind the idea now (34)____ to change the use
of the old building (35) the same reasons. Sometimes the use of the
buildings can only (36) for a short period of time. a year for example,
(37) _ the opportunity is always worth it for the young artists. On one
occasion a businessman lent an old building (38) the organizers for
two years, and in that time the artists were (39) to put on concerts, art
exhibitions and fashion shows to (40)____ the local people.
31 A.which . B.some C. who D. those
32. A other B. past C. late D. remaining
33. Al have B. must C. would D. had
34, AL think B. like C. go D. want
35. AL with B. by C. beyond D. for
36. AL take B. be C. scem D. have
37. AL but B. so C. because D. since
38. A. for B.in C.to D. from
39, Al suitable  B. able C. better D. successful
40. A. attract B. bring C. provide D. enjoy
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PRAGUE

Prague has a population of over one million people. It is not the
biggest city in Europe, but it is certainly one of the most beautiful. It is built
on seven hills on the banks of the River Vitava. Fifteen bridges cross the
niver. The most famous is Charles Bridge, which joins Prague Castle and the
old town. The view of the castle from the river is famous.

Some people call Prague “The Golden City” and “The Mother of
Cities™ because it still has many beautiful medieval buildings and statues.
Perhaps the most popular building is the Old Town Hall with its amazing
15" century astronomical clock.

People also call Prague “Europe’s School of Music™. There are many
concert halls, and every May there is a famous music festival™ “Prague Spring™.
There are also twenty theatres and many old pubs, wine bars, and restaurants.
There is now a modern underground, but traffic is still a problem. It is often
better to walk and feel the atmosphere of the pretty little streets.

41. Prague was built
A. on 7 hills
B. on the left bank of a river
C. on 15 bridges
D. on the right bank of a river

42. The most famous building in Prague was

A. Prague Castle B. Old Town Hall
C. Charles Bridge D. Europe’s School
43. “Prague Spring” is the name of
AL acastle B. a bridge
C. a school D. a festival
44. The writer advises us to on Prague’s streets.
Al cycle B. drive
C. go by underground D. go on foot

45. According to the passage, which of the following statemments is NOT true?
A. Prague is the biggest city in Europe.
B. Prague is one of the prettiest cities in Europe.

1072
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D. Praguc is famous for its music.

Excreise VIII: Choose one sertence that best rewrites the root one.

46. She works in the morning, so she doesi't have time to plavwith her children.
AL If she worked in the morning, she wouldn’t have time to play with
her children.

B. I she didn’t work in the morning. she would have time to play
with her children.

C. She would have time to play with her children if she hadn’t
worked in the morning.

D. She would have had time to play with her children if she didn’t
work in the morning.

A7 Leyeled tovwork once, but I don't any more.
AL Tused to cycling to work.
B. 7T got used to cycle 10 work.
C. I'was use to cycling to work.
D. Fused to cycle to work.
8. We came 1o the meeting on time though the traffic was fieavy,
A. Despite the traffic was heavy, we came to the meeling on time.
B. In spite of the heavy traffic, we came to the meeting on time.
C. Even though the heavy traffic, we came to the mecting on time.
D. Although the traffic was heavy, but we came to the mecting on time,
49. Active: We haven 't used phis house for ages.
Passive: A. This house for ages haven’t been used.
B. For ages this house hasn’t be used.
C. This house hasn’t been used for ages.
D. This house wasn’t have used for ages.
50. Direct speech: “Don't be late for vour exam tomorrow,” he said.
Indirect: A. He told me not to be late for my exam the next day.
B. He told me don’t be late for your exam tomorrow.
C. He said me not to be late for my exam the following day.

D. He said to me I didn’t be late for my exam the next day.

v
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Exercise I: Choose the word in each group that has the underlined part
pronounced differently from the rest.

1 A. gentle B. gulf

2. A. tablets B. liners

3. A flourished B. explored
4. A. base B. stable

5. A. choose B. wood

C. gift D. globe

C. sharks D. crops

C. mingled D. postponed
C. whale D. cash

C. cartoon D. roof

Exercise II: Choose a word in each line that has different stress pattern.

6. A. defeat
7. A. harbour
8. A. colony
9
I

B. unusual
B. ice—free
B. dynamic
A. practice  B.involve
0. A. conscrvation

C. management

C. commerce D. delight
D. include

D. populous

C. worldwide
C. industry

C. mineral D. energy

B. associate

D. necessary

Exercise III: Choose the best answer to complete cach of the following

sentences.

11. The electricity failed while she

A. is cooking

C. has cooked

12. We reached the landscape after we

A. would cycle

C. were cycling

13. We shall not go out unless he

Al went
C. will go

14. Don’t touch the wall. Tt
A. has just painted

C. has just been painted

our dinner.

B. was cooking

D. would cook

for almost an hour.
B. has cycled

D. had cycled

with us.

B. goes

D. shall go

B. was just painted

D. just have been painted
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[image: image96.png]15. They here, but they don’t live here any more.

A used to live B. used to living
C. have used D. had lived
16. This is the first time [ to play table tennis.
A. have tried B. am trying
C. was trying D. would be trying
17. The police must try to catch those men dangerously.
A. that drives B. who drive
C. whom drive D. which drove
18. Thousands of people came to see the football team the rain.
A. because B. owing to
C. according to D. in spite of
19. She was shocked at the scene in the street.
A. to fright B. frightening
C. frightened D. fright
20. If you wrote nicely, you higher marks.
A. would get B. will get
C. got D. would have got
21.I'don’t like the place he lives.
A. that B. which C. where
D. when
22. T prefer war films action films.
A.into B.to C. than D. from
23. Of the three of us I seem to have the money.
Al less B. fewest C. least D. littlest
24. Children enjoy in the river.
Al swim B.toswim  C. swam D. swimming
25. A football team of eleven players.
A. composes B. is composed

C. has composed D. is composing




[image: image97.png]Exercise 1V: There is a mistake in the four underlined parts of each
sentence. Find the mistake (A, B, C, or D).

26. The theatre is the nearest of the two buildings.
A B C D
27. If Mrs. Lien were five years younger, she will apply for the job.
A B C D

28. They have lived in New York for ten years before they moved to
Washington.

A B C D
29. The children were exciting to see the animals in the zoo.
A B C D
30. We sct off carly in order of reaching Thay Pagoda before midday.
A B C D

Exercisc V: Read the following passage and choose the best answer for
each blank.

CARTOON FILMS

Cartoon films have very few limits. If you can draw something, you
can (31)__ ___ it move on the cinema screen. The use (32) new ideas
and advanced computer programs means that cartoons are becoming
exciting again for people of (33) ages.

By the (34)____ of the 1970s, the cinema world had decided that
cartoons were only for children.

But soon (35) , one or iwo directors had some original new
ideas. They proved that it was possible to make films which both adults and
children could (36) the fun.

However, not (37) _ cartoon film was successful. The Black
Cuntldron. for example, failed, mainly because it was too (38) for
children and too childish for adults. Directors learnt from this 39y
and the film companies began to make large (40) of money again.
3L Alget B. cause C. wish D. make
32, Afor B.of C. with D. by

33. AL more B. other C.alt D. these




[image: image98.png]34 A.end B. finish C. departure D. back

35 A. afterwards B. later C. next D. then

36. A. divide B. add C. mix D. share

37. A.every B. both C. any D. each

38 A.nervous  B. fearful C. afraid D. frightening
39. A.damage  B.crime C. mistake D. fault

40. A.amounts  B.accounts  C. numbers D. totals

Exercise VI: Read the passage below and choose one correct answer for
each question.

Elizabeth Blackwell was born in England in 1821, and emigrated to
New York City when she was ten years old. One day she decided that she
wanted to become a doctor. That was nearly impossible for a woman in the
middle of the nineteenth century. After writing many letters seeking
admission to medical schools, she was finally accepted by a doctor in
Philadelphia. So determined was she, that she taught school and gave music
lessons to carn for her tuition.

In 1849, after graduation from medical school, she decided to further
her education in Paris. She wanted to be a surgeon, but a serious eye
infection forced her to abandon the idea.

Upon returning to the United States, she found it difficult to start her
own practice because she was a woman. By 1857 Elizabeth and her sister,
also a doctor, along with another female doctor, managed to open a new
hospital, the first for women and children. Besides being the first female
physician and founding her own hospital, she also established the first
medical school for women.

41. Why couldn’t Elizabeth Blackwell realize her dream of becoming a surgeon?
A. She couldn’t get admitted to medical school.
B. She decided to {urther her education.
C. A serious eye infection halted her quest.
D. It was difficult for her to start a practice in the United Statcs.

42. Which of the following words is closest in meaning to “emigrated” in line 17
AL delayed B. left
C. stopped D. moved




[image: image99.png]43. What main obstacles almost destroyed Elizabeth’s chances for becoming
a doctor?

A. She was a woman.

B. She wrote too many letters.

C. She couldn’t graduate from medical school.
D. She couldn’t establish her hospital.

44. How many years elapsed between her graduation from medical school
and the opening of her hospital?

A8 B. 10
C. 19 D. 36

15. All of the following are “firsts™ in the life of Elizabeth Blackwell,
EXCEPT __ .

A. she became the first female physician.
B. she was the first woman surgeon.

C. she and several other women founded the first hospital for women
and children

D. she established the first medical school for women.

ixercise VII: Choose the best option to complete each of the following
entences.
6. Marry didn’t begin to read until she was six.
CWaSI L
A, until was six that she began to read.
B. until Marry wasn’t six that she began to read.
C. until Marry was six did she begin to read.
D. until Marry wasn’t six that she didn’t begin to read.
7. The last time Nga wore that dress was at her sister’s wedding.

\ga hasn’t

A. worn that dress was at her sister’s wedding.
B. worn that dress since her sister’s wedding.
C. wore that dress was at her sister’s wedding long ago.

D. wore that dress since her sister’s wedding ago.




[image: image100.png]48. Trung doesn’t play chess as well as he used to.
Trung used 1o,
A. playing chess better than he can now.
B. play chess not as well as he docs now.
C. play chess better than he does now.
D. playing not as well than he can now.

49. I didn’t go to bed early, so I'm tired now.

AL went to bed carly, I wouldn’t be tired now.

B. went to bed early, [ wouldn’t have been tired now

C. had gone to bed early. I wouldn’t be tired now.

D. had gone to bed early. I wouldn’t have been tired now.
50. Marie Curie was born in Poland. She was a famous scientist.
Marie CUILC, ..o

A. whomm was born in Poland was a famous scientist.

B. that was born in Poland was a famous scientist,

C. was born in Poland, who was a famous scientist.

D. who was born in Poland, was a famous scientist.
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Unit 1: A DAY IN THE LIFE OF ...

" Exercise I:
1.D 2.C 3.B 4.C 5.A

Exercise II:
6.C 7. A 8. A 9.D 10.B

Exercise I11:
11.C 12.D 13. A 14.C 15.B

Exercise IV:

16. B 17.D 18.D 19.B 20. A

21.B 22.B 23.D 24.C 25.A
Exercise V:

26.C 27.B 28. A 29.D 30. A

31.B 32.D 33.A 34.C 35.B

Excrcise VI:

36.C 37.D 38. A 39.B 40. C
Exercise VII:
41.C 42. A 43.D 44. B 45.C

Exercise VIII:
46.B 47.C 48. A 49.D 50.B

Unit 2: SCHOOL TALKS

Exercise I:
1.C 2.B 3.A 4.C 5.D
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6.C 7.D 8. A

Exercise Il: (The correction is for further study)

11. A (talking)

12. D (because of)

13. A (not/don’t you)
I4. B (to close)

[5. C {so much)

Exercise IV:

6.8 17.B 18.D

21, A 22.B 23.B
Exercise V:

26. A 27.D 28.B

31 A 32.C 33.D
Exercise VI:

36. A 37.B 38.D
Exercise VII:

41.D 42, A 43.C
Exercise VIII:

46. C 47.A 48.C

Unit 3: PEOPLE’S BACKGROUND

Exercise It
1.D 2. A 3.B

Exercise IT:
6.C 7.D 8. A

Exercise ITL:
11.D 12.8 13.B

112

9.B

19.A
24.D

29.C
34.B

39.A

44. B

49.B

4.C

9. A

14.C

10.D
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5.D

10.B
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16. B
21.C

Exercise V:
26. B
31.B

Exercise VI:
36. A

Exercise VII:
41.C

Exercise VIII:
46. C

Unit 4: SPECTAL EDUCATION

Exercise I:
1.D

Exercise I1:
6.C

Exercise II1:
11.B

Exercise IV: (The correction is for further study)

16. B (which)
17. D (poor)
18. A (do)
19. A (are)
20. D (raise)

37.C

42.D

47. A

2.C

7.A

12.A
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38.B
43. A

48.B
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13.D
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40.D

10. A
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21.D 22.B 23.B 24. A 25.D

26.C 27.D 28.C 29. A 30.B
Exercise VI:

31.B 32.A 33.D 34.C 35. A

36.B 37.D 38.B 39.C 40.B
Exercise VII:

410 A 42.D 43 A 44. B 45.C
Exercise VIII:

46.C 47. A 48.D 49. A 50.B
Unit 5: TECHNOLOGY AND YOU
Exercise It

1.D 2. A 3.C 4.B 5.C

|

Exercise I1: |

6. B 7.C 8.D 9.A 10. B |
Exercise I11:

I1.C 12.D 13. A 14.B 15. A
Exercise IV: (The correction is for further study)

16. C (since)

17. A (which / that)

18. C (has just been sent)

19. A (haven’t used)

20. B (bought)
Exercise V:

21. A 22.B 23.C 24.D 25.C

26.D 27 A 28.C 29.D 30.C




[image: image105.png]Exercise VI:
31LA
36.B

Exercise VII:
41. C

Exercise VIII:
46. A

47.D

Unit 6: AN EXCURSION

Exercise I:
I.B

Exercise I1:
6.B

Exercise I11:
11.B

Exercise IV: (The correction is Sor further study)

2.C

7.D

12. A

16. A (are going)

7. A (are having / are going to have)

18. A (have we)
19. C (four-day)
20. B (doesn’t scem)

Exercise V:
21.B
26.C

Exercise VI:
31.B
36. A
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41. A 42.D 43.C 44. B 45.A

Exercise VIII:
16. B 47. A 48.D 49. A 50.C

Unit 7: THE MASS MEDIA

Exercise I:

[.C 2.A 3.C 4. B 5.D
Exercise I1:

6.C 7.A 8.B 9.D 10. A
Exercise IIT:

11.A 12.D 13.C 14.B 15.D

Exercise 1V: (The correction is for further study)
16. D (since)
[7. C (because of)
[8. A (Although / Though / Even though / In spite of the fact that)
19. A (haven’t watched) ’
20. C (saw)

Exercise V:

21.C 22.B 23. A 24.C 25.B

26.B 27.A 28.C 29.D 30.B
Exercise VI:

31LA 32.C 33.B 34.D 35.C

36. A 37.B 38.D 39, A 40.B
Exercise VII:

41. A 42.D 43.B 44.D 45.A

Exercise VIII:
46.D 47. A 48.C 49.B 50.B




[image: image107.png]Init 8: THE STORY OF MY VILLAGE

ixercise I:
1. A

Ixercise I1:
6.C

Exercise [11:
11.D

2.B
T.A

12. A

3.D 4.C
8. A 9.B
13.C 14.B

Exercise IV: (The correction is for further study)

16. B (had changed)
17. B (is widened)
18. C (have)

19. D (then)

20. A (11 / T will)

Exercise V:
21.B
26.D

Exercise VI:
31.B
36.B

Exercise VII:
41.C

Exercise VIII:
46.D

FIRST SEMESTER TEST 1

Exercise I:
1.3

22.
217.

32.
37.

42.

2.A

23.C 24.B
28. A 29.A
33 A 34.B
38.C 39.D
43.B 44. A
48.C 49.B
3.D 4.C

10.D

15.B

25.B
30.D

35.C
40.B
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6. A

Exercise T11:
I D
16. D
21.C

Exercise IV: (The correction is for further study)

26. C (the old)
27. A (don’t)

7.B

SRS
< >

1
1
2

28. B (hadn’t secn)
29. B (in spite of)

30. A (to talk)

Exercise V:
31.C
36. B

Exercise VI:
41.C

Exercise VII:
46. A

FIRST SEMESTER TEST 2

Exercise I:
I.C

Exercise II:
6.C

Exercise I1I:
I1.A

47.C

2.A

7.A

12.C

8.C

43. A

48.B

3B

8.D

13.B

9.D

44.B

49.D

4.D

9.B

14.D

10. A

45.D

5.D

10.D

15.A





[image: image109.png]Exercise IV: (The correction is for further study)

16. B (working)
17. C (hadn’t seen)

18. A (smoke)

19. C (who / that)
20. C (because)

Excrcise V:
21.D
26. A

Exercise VI:
31.D
36.B

Exercise VII:
41.D

Exercise VIII:
46.C

Unit 9: UNDERSEA WORLD

Exercise I:
1.D

Exercise 1I:
6.B

Exercise I1I:
11.B
16. A
21.C

Exercise IV: (The correction is for further study)
26. B (wouldn’

27. B (do)
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29. C (ought to apply)
30. C (would)

Exercise V:
31.B 32.D 33.A 34 A
36.D 37.B 38.C 39. A

Exercise VI:
41. A 42.D 43.B 44, A

Exercise VII:
46. B 47.D 48.C 49. A
Unit 10: CONSERVATION

Exercise I:
I.B 2.C 3. A 4.D

Exercise 1I:
6.C 7.D 8.B 9.A

Exercise I11:

IL.D 12.A 13.C 14.C
16.B 17.C 18. A 19. A
21.C 22.C 23.D 24. A

Exercise IV: (The correction is for further study)
26. B (to be seen)
27. B (grow)
28. B (been told)
29. A (use)
30. B (constant)

Exercise V:
31.C 32.
37.

C 33. .
36.C A 38.D 39.B

45.C

50.B

S.A

10.C
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Exercise VII:
46. C

Unit 11: NATIONAL PARK

Exercise I:
1.C

Exercise II:
6. A

Exercise I11:
I1.C
16.C
21. A

Exercise IV: (The correction is for further study)
26. A (would have gone)

42.C

47.D

2.D

7.C

LA
17. A
22.B

27. A (hadn’t been)
28. A (didn’t enjoy)

29. B (since)

30. B (would forget)
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Exercise I:

1.D 2.A
Exercise II:

6.B 7.C
Exercise III:

11.C 12.D

16.C 17. A

21.B 22.D

3. A 4.D
8. A 9.D
13.A 14.B
18.B 19.D
23.C

Exercise IV: (The correction is for further study)

26. C (to)

27. D (for)
28. D (Minh likes)
29. C (listen)

30. A (don’t we)

Exercise V:

31.C 32. A

36. A 37.C
Exercise VI:

41.B 42, A
Exercise VII:

46. B 47.C

Unit 13: FILM AND CINEMA
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1.C

2.D

33.C 34.D
38.B 39.D
43.C 44.D
48. A 49.C
3.C 4.B
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Exercise I'V:
16.C 17.B
21.D 22.B

Exercise V: (The correction is for further study)

26. C (stopped)
27.C (to)

28. A (surprising)
29. C (is an)

30. C (of)

Exercise V:
31LA 32.B
36.B 37.D

Exercise VI:

41. D 42, A
Exercise VII:
46.D 47. A

Uit 14: THE WORLD CUP
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I.A 2.D
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11.C 2. A 13.A
16.D 17.D 18.C
21.C 22.B 23.C

Exercise 1V: (The correction is for further study)
26. D (will come)
27. D (is going to rain)
28. B (will get)
29. B (for)
30. C (between)

Exercise V:
31.D 32.A 33.C
36.C 37.A 38.D

Exercise VI:

41. A 42.B 43.C
Exercise VII:
46. B 47.C 48.C

Unit 15: CITIES

Exercise It
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Exercise II:
6.D 7.A 8. B

Exercise II1:
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26. A (which)

1o —
0k
[wlie=les)

34.
39.

w >

44.D

4.B

9.C

N DY —
HSw
o wO

50.D

5.A

10.B




[image: image115.png]27.C(2)
28. B (which)

29. A (Despite / In spite of)

30.D ()
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41.C

Exercise VII:
46.D

Unit 16: HISTORICAL PLACES

Exercise I:
1.D

Exercise 11:
6.D

Exercise I11:
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31LA 32.A 33.C 34.B

36.C 37.D 38.B 39. A
Exercise VI:

41.A 42. A 43.D 44, A
Exercise VII:

46.C 47. A 48. B 49.B
FINAL TEST 1
Exercise I:

1. A 2. A 3.C 4.B
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Exercise IV:
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26. B (it was)
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